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[ynit Whole Numbers

____.————- —

.——"__-'_-_-_
i

] | 'ﬂer compmting this section, you will be able to:
B iify place values of digits up to one hundred thousand (100 000).
ldend numbers up to one hundred thousand (100 000).

&i?e ,umbers up to one hundred thousand (100 000).

, Wnw numbers in words up to one hundred thousand (100 000).

, Compare and order numbers up to 5-digit.
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(The length of the J
great wall of China
is 21 196 km. How
can we read and
write 21 196 in

L_Vo‘Ol'dS? )

—

The number which is greater than thre;_d}élls, e
leave space after every three digits from the fightss
of that number, i.e. 21 196.

We read and write the number in words as “tweny,
thousand, one hundred and ninety-six",

Letus wite |
269273 inthe _ ‘
2:?0: value To write the number as sum of pa
ekl ) [values is called expanded fom. |
S e e A |
ousands Thqy_sands _H'undreds Tens | Ones
6 9 2 713

We write 69 273 in words as “sixty-nine thousand, two hundred and
seventy-three”. The expanded form of this number is:

69273=60000+9000+200+70+3

Jwr M Iml hndm ﬁﬁ?ﬁl}d&an Write sofﬁé'hb—n;beﬁﬂiﬁ&? 3
children to show corraet i orY digit of the number one by one, 85 |
Y2 ShoW carrect place value card o tht i, : e

Not For Sale - PESRP

—



place value of every
digit in 69 273,

nthousands Place and ts place vaiue = 6., 10 090 - 50 006

ds place and its place valye

ath thousan =9x 1000 =9 000
e hundreds place and its place value =2 % 100 = 200
Al ens place and its place value =7x10=70

+ ones place and its place value =3x1=3

ﬁaﬂh

(The costof a laptop is
Rs 78 500. Let's write the (
place and place value of '

digits 78 500. Also write itin
expanded form and words.

-4

Tsalthe ten thousands place and its place value. =7 x 10000 =70 000

*salthe thousands place and its place value =8 x1000=8000
salthe hundreds place and its place value . =5x100= 500
"sdlthetens place and ts place value =0x10=00
Hilleones place and its place value =0x1=0

L
rpunded form: 70 000 + 8 000 + 500 + 00 +0

Seventy-elght thousand and five hundred.

o eepem—

. ~structthem 10
s -- o in
,-- lﬁh n'dfen to write one 5-dlgit number in fhﬂ notebook. Thenm dloﬂ"fm

Umber in words and write the place an P|3°°

____..__--—-—- -
S
S SRR e

\ 5 S

Uﬂ” 1.' Whok N"mb'ﬂ g



' Mathomatics 4 |

99999 isthe d
one hundred th

e W

Uﬂ" 1 :

Wy
reatest 5-digit whole number. If wo aqq 4 o "\
ousand that is the smallest 6-digit whoy, “Un{hteq‘-"

!

iy Yoursol - 99,99
are there In one hundred 100,000
thousand?

We write these numbers in the place value chart as:

Hundred |  Ten |ryqsands|Hundreds | Tens [Ongs

Thousands|Thousands | | | SOV
9 9 9 9 |9

1 0 0 J 0 0|0 1

[

Can you tell what is the smallest and

the greatest 5-digit whole numbers?

By using the given digits:

Try It! QF% _,

Make a greatest S-digit number and write it in words. [ 71'
Make the smallest 5-digit number and write the place =~
value of each digit of that number,

Write 3-different numbers whose digit at thousands
place is 3,

Make a o-digit who|
ten thousands
difference s 2.

Wiite such a whole nu
repeated.

€ number whose sum of digits of 6 E
place and tens place is 8 and the |

mber in which no digit is




V - | : Unit 1: Whole Numbers
| Exercise 1 '.

o follOWINg numbers in the expandod s

L ™Y

o (b) 37 911

“‘?::3 (f) 09 223 Ec)) oy (46743
)83 i) 78 324 9)22167  (h)57 890
)3 789 (k) 41 452 (1) 56 432

., the following numbers in standard form:
1',.,0000+1000+100+70+1= -
j30000+9000+200+30+5=

000 + 5000 + 300 +40 + 3 =

)80
150000 + 6000 + 700 + 90 + 0 =

| wree the place and place value of the coloured digits.

)76 102 (b) 24 360 (c) 94 615 (d) 65 495
1273456 (f) 18 654 (g) 34 566 (h) 86 042
) 56 324

r ta following numbers in words:

)74 325 (b) 43 711 (c) 19 560 (d) 75 434
#)67459 (f) 25 302 (g) 36 721 (h) 78 065
1182897 (j) 37 264 (k) 45 129 (143275 -

iz the following in numerals:

‘“‘] Twenty-five thousand, Six hundred
1 h Seventy-eight thousand, four hundred and two
LJ FW“’“G thousand, sixty-one

‘r;; HS:ety'eighl thousand, three hundred a
*"} 1 enty-two thousand, five hundred and forty-six
r;m:mh’a thousand, five hundred and fifty-five

"F ety-eight thousand, five

i E;?-eigm thousand, four hundred and
: ly-eight thousand, three hundred an

nd one

forty-four
d twenty




-

p————— —
C .:c.ompgﬂng gnd Ordering N"'“,bem»
R ——— ‘».\

T aroEats |

12 742 km. The diameter of
venus is 12 104 km. How

can we compare the =Y
diameters of both pIanets’U .

k..--————

We can compare the L&
numbers easily with the help

of place value of numbers.

S Ten ot 'ndﬁdsf Tens
1 2 | 7 4172 62 199, by usnyeny

=
greatest place value. The d'rg.‘t:fl 1

(i) First compare the digit at the
|

the numbers at ten thousands place is ‘1.
(i) The digits of both the numbers at thousands place is 2.
(ii) Athundreds place digit ‘7' is greater than the digit T
So, 12 742 is greater than 12 104 that is:
12742> 12104
So, diameter of Earth is greater than Venus.

i B .
o AR

e e LA
.lr}mmplare

o wmile

d

ompare digits from
You find two different digits.
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r"'.’- Unit 37 vz
Let's find out which "3: Wholo Nigrg:

pumber is smaller from Try G
jven number —'TY Yourself
i I
— i) he smallas 5-digit numgr
[ Ten R '
3 Thousand W& prey
Mands S| Hundreds Tens |Ones
3 2 | o 1T
s S T ks
.Y . 3 |22
e digi 9" at ten thousand placeis | Tn ST
1 iqit ‘4 A ry—_- oumelf_)\
grallel thar] the dig! . Compare 8 799 ;
3297918 smaller than 40 322 that is: 22 229. i
32979 <40 322

[ e pice of three mobile phone models
«Rs62 870, Rs 78 200 and Rs 75 110,
wpectively. Compare their prices and
wieitin ascending order.

——.

_ Ten Thousands|Hundreds Tens |Ones
Thousands .
6 2 8 |7 |9]
7 8 2 10 l"n
7 i k=
i . s smaler than the
92870, the digit at the ten thousand p|30; I;e smallest numbe

I
Maining two numbers. There

Scanned with CamScanner



[Mathematics 4™~~~ T Unit 1: Wholo Numbggg

(i) In 78200 and 75 110, the digit at ten thousand place are equal. |
their thousand place digit ‘8" is greater than ‘5’. Therefore, 78 200
is greater than 75 110.

(iii) Let's now write these numbers in ascending order.

Ascendingorder: 68870 ; 75100 ; 78200

numbers from smallest to the greatest is

f
The arrangement o mbers from the

called ascending order. The arrangement.of nu
greatest to the smallest is called descending order. 1

Make two 4-digit and three 5-digit numbers. In evefy 'mfmber the digit
at the thousand place is ‘5’ and digit at ones p!ace is '9". Then
compare these numbers and write in descending order.

-

Exercise 2 ¥\
1. Compare the following numbers by using symbols (<,>, =):
(a) 84 325 ___ 93 417 (b) 4 853 __ 19 314

(c)56708 32156 (d)23612__ 23612
(e) 65 356 65 358 (f) 74 932 74 542
(9)68709____ 43216 (h)32567 23578

-

=~ Call some students in front of the class and give them flash cards of differer!
(, TT ) numbers. Now ask them to compare numbers and write in ascending and |

pAME R

BELEETE  8

Not For Sale - PESRP
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"

l L oloving numbers in descending order
i 4. o7 035; 12 337
: 401|

[a)83

Unit1: Wholo Numbers

(b) 18 017; 18 221. 13 414

(d) 36 121: 34 222,37 923
A 23 601; 36 243 () 12 683: 24 313; 24 391

25313657 28540 ()98 754; 78 543; g9 654

e he following numbers in ascending order-

134073273 (530817, 28 211,43 18
(70 442: 58 375; 84 176 (d) 67 319; 22 342: 97 323
¢)63.624; 36 241; 63 283 (f) 48 326; 23 634; 43 124

(59312;,60337;24085 () 89 675,84 675; 89 546

Thave leamt to: 657

+ Hentify the place value of digits up

bone hundred thousand. FREE T
“dihe numbers up to one . Numbers
hindred thousand. . Digk
' Wie the numbers up to one . Place Value
hundreg thousand. . Compare
*ad ang write the numbers in . Order
RS Upto one hundred thousand. . Ascending
| :;I".‘Dare and order numbers up to . Descending
Igit,

"9 ,ﬂ

A
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1. Tick (V) the correct oplion.
(a) The smallest 6-digit numberis

(i) 11 11 (ii) 100 000 (i) 101 010 (n 1 g

—

(b) Comparison of numbers always starts from the

(i) right (i) left (iii) last (iv) abovs
(c) In number 38 101, the place value ofdigit8is
(i) 800 (ii) 8 (i) 80 (i) BOOK

(d) The greatest 5-digit number is

()91100  (i)90101 (iii) 99 999 (iv) 90 000
(e) 34 011 is greater than

-

()34010 (i) 34 111 (i) 34210 (iv) 34 212
() 31 108 is smaller than

031106  @31107  (ip3o100  (iv)31 102

2. Write the following numbers in words:
(a) 43 567 (b) 97 741
(d) 46 743

(c)52 016

(€)58649 (195202
(9) 10 007 (h) 86 950 (i) 60 000
0) 60032 ()52 o1 (

1) 36 427

Scanned with CamScanner




bt Bl =

e - - s
_,_\__js —
e " g e—"

mbers in the expanded form: '

m T b tman J %\c @
m '-\:e; m Igzsoz j
Sttt o

he fo!lowmg in numerals:
)Fity-one thousand, five hundred and eighty-six

Eighty-two thousand, four hundred and four
¢ Fieen thousand, sixty hundred and sixty

d) Twenty-one thousand, one hundred and five
o) Twenty-three thousand, five hundred and six
() Ninety-six thousand, one hundred and twenty-fi

)(9) Sixty-seven thousand and three

Wiite t

-five

5 Wiite the place and place value of the coloured digits.
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[Mathomatics 4~~~
6. Write the following in standard form,

(a) 40 000 + 4 000 + 600 + 80 +73 =
\\

(b) 90 000 + 0 000 + 000 + 50 + 4 = |
\

(c) 20 000 + 9 000 + 100 + 00 + 4 =
\\

(d) 10 000 + 6 000 + 700 + 80 + 5 =
____‘—‘“\

7. Compare the following numbers by using symbols (<
e
= s

yau :
t 5 847 31 341 7 /
f,‘c ‘ d'
50 678 45 321/ ’
= —
e T
)" 76 643 76 643
#g_:.‘- ! h ‘\ II
66809 24 351 ] 32 674 26

8. Write the following in descending order:
(a) 12 683; 14 601; 18 624 (b) 16 283; 26 133; 14 3%
(c) 23 913; 30 536; 22 480 (d) 54 788; 54 786; 54 790

9. Write the following numbers in ascending order:
(a) 94 041; 84 405; 33 731 (b) 19 375; 12 921; 14 131

(c) 45 034; 37 358; 42 876 (d) 36 172; 35 242; 37 723

Nol For Sale - PESRP

Scanned with CamScanner



* = A rr— —

B ';:.3-':‘. - —:'E‘I

_— e e e . ey

f 4dition and Subtraction

. 'pletlng this section, you will be able to:
m

| aRef up to 5-digit.
add pumbers nﬁmber stories involving addition of numbers

) rBBl |Ife
| :;,ta s-digit pto 5-digit.

rsu
ctnumbers = - i |
, S real life situations involving subtraction of numbers

¢ ot 5-digit.

e

I p—

T -

- — — ot ' from Peshawar
An aeroplane covers 11 270 km distance ximately 10921

to Toronto. The same plane covers appro f
km distance from Toronto o Lahore. Find the tot

| distance covered during these tWo flights. . | |

T

 ————

-
o

Scanned with CamScanner
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| Addition

e

[Mathematics4 =~ T Unit 1: Addition and Subtragizs

(In town ‘A, total votes cast |
were 54 372 In town ‘B’

total votes cast were

25 617. Can we find how
many votes were cast in

| both towns altogether?

To find total number
of votes cast we add

them.

Ten slThouss.mds Hundreds| Tens |On ||

Thousand ¥
Votes castin town ‘A'=| 5 4 3 |72
Votes castintown ‘B'= [+ 2 5 6 117
Total votes = 7 g 9 g8 |9

—

So, total 79 989 votes were cast in both towns altogether.

A publishing house published 25 575
story books. Considering the popularity —

of the book, the second edition was also T"Y Try Yours elf
published. In the second edition, 42 195 [Add 51 292 ancigm}j
books were published. Find the total |

number of books published in both
editions.

| \ Instru — -
A nmnbgtrsth:nzmt:ﬂanﬂ: ‘mots;o Mmig;t numbers and ask them to add these ]

- —

— e ————
Cee—

e e i

“
| SRSy
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- sillke
2, -
e

'

.

_ ~—_ Unit1:Addition and Subtraction

ere, Weé add the number of books published
o get the total quantity.

Thozzgnds Thousands{Hundreds| Tens |Ones
ofb 00ks published in= o9 @ 5 i @7 5
.berofb 00KS puthhed in=|+ 4 2 9 115
Total quantity =| 6 8 4 |90

r of books were published in both editions.

e sum:
' | lsdgitand smallest 4-digit
Wole numbers.

Try It 4.4

Complete the following addition table:

Thozzgnds Thousands| Hundreds| Tens |Ones
S 3
+ 2 : 4
! 9 4 | 1]8

3 *'i'h or.;]ap of‘"ﬂ’erent examp!es, explain the r.:once
ng uring the process of addition .



1. Solve the following:

@ ThTh H T 0 (b Tt 7 |
1 3 9 2 7 3 5 4
+ 2 4 1 5

© THhTh H T 0 @ Tth T o b
7 5 6 7 9 3 5 |
+ 1 6 8 2 8 vr 2 4

2, Solve the following:
(a) 58 134 + 45 367 (b) 78954 +12236  (c) 89 764 + 47

(d)53241+ 67543  (e)98756+56 744 () 65 432 + 474
()42115+61537  (h)58764+ 65744 ()54 312+ 6858

3. Nida bought a laptop for Rs 59 453 and spent Rs 12 652 on rep:§
How much total amount did she spend?

4.In January, 83 215 people travelled and in February, 21 084 peost
travelled from an airport, How many passengers travelled in two
months?

S.In alibrary, there are 42
22 500 new books.

(a) Find the tota| number of bc;oks in the library. ¢
(b) If 23 890 more books are added then find the total number of b

725 books. Administration decided to ac

OVer more distance?

Scanned with CamScanner



Unjg 1A —
: ¢ '“‘mkm

Mammaly Blray
pathave backbone h}
.\\{“
L”\ y A called -N\
A |

i there are 00 178
* Lebrates out of which

\\ ‘
F wae fist
by (arebrates are there

- O
L]\h\ N‘h‘

Amphibians
Thousands Hundrqu Tens 6ﬁ'es
5)
Laypes of vertebrates = 6 “'_6 G"\ 7 | 8
Typesoffish = | - 3 2 9 010
Remaining types = | 3 3 2 |78

N\ X3 278 types of vertebrates are there other than fish.

| ETeroursorf“

* Make any two S-digit
numbers and subtract the
smallest number from the
greatest number.

SR P - -—:z‘___—_________._——-

< 17 Not For - PESRP
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[Mathematics4

A total of 55 661 ;{;O—F;;ﬁ __i _ gnlt 1:A'§:ffta‘lon and Syp

visited the Pakistan
Monument in December. In
Jfa\r.mary, 12 255 less people '
visited as compared to - ' (3
December. How many i e
people visited the Monument
in January?

(Here, we will subtract 12 255 )
from 55 661 to find out the
less number of visitors who

kwisitead in January. -5
| T o TousandsiHundredsi Tens '
Number of visitors
came in December=| 5 5 6 %M
Number of less visitors came
in January as compared to = |~ 1 2 2 |58 |
the December
Difference = 4 3 4 016
So, in January 43 406 visitors came to visit the Pakistan Monument
= S0P
2Z=(Try l{oursq_l!J Try It! | _f(

Sl;t;-t;act the greatest 4-digit Find two numbers from the given
numbers whose sum is 78 448 and the

number from the smallest
5-digit number. difference is 15 400.
46924 72876 @628 65234 B7

[. Maka small groups of studants and ask tl;a; -t;v;'nte twu 5-digit numbers ﬁ’d
3

then subtract smaller number from grealar number.

Not For Sale - PESRP
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e - a5 — 7 Uﬂ“ﬁAd ‘-__ .

dition s e
Y. U_t.m_anclSurbt;g:(;1“'}_‘5;,-1l
[Exercise 2 Ca
H T O (b) Tith Th H ¥ ®
5 6 % 5 B 8 4 .8 r,
/— e —
—"H T O @ Thm H T o
1 8 - 1. 6 4 4 7

T O () Tth Th H T

2 1 3 308" 7 5
i 4 9 - 26 2 3 8
1___..___
fhmm vt o @ T oW T O
l 9 6 273 7 6 7 4 5 3
4-7 3 4 5 5 -3 2 5 1 4
1—

(b) 97 843 — 61 732 (c) 99 754 - 67 584
(e) 85964 — 74 544 (f) 63 541 - 58 463

'siadh .
' Nﬂw:d Rs52490 He bought a bicycle for Rs 15 873.
0
'”flhep\-[v . Money was left with him? "
- [ | Wi
helen? " Ofthe bicycle is Rs 18 759, then how much money



' Mathematics4 '
s 4 Unit 1: Addition and Subu

4. |n granary, there are 66 375 bags of wheat and rice. If nurmber
wheat bags are 44 468 then find out the number of rice bags,

5 . The students of class 3 collected Rs 35 278 for @ welfare instity
while the students of class 4 collected Rs 32 184. How much p

amount collected by class 3 than class 47

@s from one constituency while the g

6. A candidate got 62 436 vot
more voles did the seqq

candidate got 86 733 votes. How much
candidate get than the first candidate?

i have learnt t0: 357

. add numbers up to 5-digit. ~— Vocabulary |

. solv'e' real-life situations re!ated to . Numbers '
addition. . . Digit

. subtract numbers up to 5-digit. . Addition

. solve real-life situations related to . Subtraction

subtraction.

o
"Review Exercise &

1. Tick (v¥) the correct option.
nd 41 372 is equal to:

(a) The sum of 36 529 a

(i) 77 904 (ii) 77 903 (iii) 77 901 (iv) 7790
(b) The sum of 17 278 and 62 354 is equal to:

(i) 78 234 (ii) 34 2211 (iii) 79 632 (iv) 21345
(c) Ayesha had Rs 23 456. Her friend gave her Rs 13 131 more. No*

has Rs .

(i) 36 587 (ii) 35 467 (iii) 36 434 (iv) 3457
(d) When we subtract 73 810 from 89 654 then we will get__—

(iii) 14 765 (iv) 19

(i) 12 345 - (i) 13 245
_————/
e el TR

Not For Sale - PESRP




e | Uniy 1: Addyy
" oro g7 654 fish, If 34 567 fish are ﬂnl:;,d q"'bfarm:m,,,
' d (her® fish will bo leftin the firgt pond 2 10 anoth,
o e :
ol (i) 53 456 (iif) 53 087 )53 56
3 D
\d 12(0”0\”]"9
" v T O (b Tth h y o 5
h:'. i ; 4 3 6 6 3 5 8 =
b 9 + 4 N
A 28 27
.‘ ¢
" th H T O (d) Tth Th H T 0
24 1= 2123
7, 3 8 9 3 3 3 2 71 5
, 3 1 0 1 - 2 6,3 g
ey T -
.3 the following:

wpi+12345  (0)24 567 + 13466 (c) 90 766 + 38 967
sq5-23145  (e) 76247 —T74166  (f) 46 016 — 20 989

o first week, 23 456 people went to visit the beach and in the
wond week 34 567 people went to visit the beach. Find:
Tetotal number of people visited the beach in two weeks.

‘huhich week less people visited the beach and by how much
“zence?

;’rif? v;ere 12 345 cattle in a farm. If 34 567 more cattle are added,
“ind:

;:‘;gglany cattle were there in the farm altogether?
oy o Were goats out of the total, then what was the number of
~#olher than goats?

h,-:..e

|
{

L lh: 1045 785 trees in a forest, If 32 124 are cactus trees, then

Kty : "mber of trees ofher than cactus?
i

415 43§ BHRS 51346, He wants to buy a laptop which cost

]

oW much more amount does he need {0 buy the laptop?

Scanned with CamScanner
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‘After completing this section, you will pe able to:

Multiply numbers up to 5-digit by numbers up to 3-digit
Solve real life situations invalving multiplication of Numbers
up to 5-digit by 3-digit.

- Divide numbers up to 4-digit by numbers up to 2-digit,
Solve real life situations involving division of numbers up to

- 4-digit by a number up to 2-digit.

Solve real life situations using appropriate operations of

addition, subtraction, multiplication and division of numbers

up to 2-digit. Uranys _.'h
Recognize a given increasing and decreasing pattern by e
stating a pattemn rule. ' - VB ;
Describe the pattern found in a given table or chart,

Complete the given increasing and decreasing number ey

b diogy
- sy, ]
-

sequence. s

== JOE ]
"

| . L
W A v

.- 5 o
L - dan

i

s P

Jupiter

Not For Sale - PESRP —
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Unit 1. Mumpﬂcallon and Djyy,
on

(' Multiplicatlon
| ?.? f'l'{a";rson walks 6213 |

A steps in a day, find out
Y63l = now many steps will he

L.f—“ﬂn 3 days?

g 6213 with 3
: M“'“?,ﬁ out the total
1Y of steps. Multiply
t of 6213 with 3.

Tg H To0
Multiply 3 ones with 3 2013
X 3
A -
. [Th H 7730
70 | Multplyitenwitha, | 6 2 13
X . 35
39
Th H TO
1Multiply2hundreds with 3 GRS281 g
4
39




‘Mathematlcs 4 | Unit g gy
Find the product of 10 231 and 65. Ui,
MFo 3

1% ]
W5 15 § ——
1+61386 0
| 6650 1 5=
10 231 x65 = 665 015

The cost of one phone tablet is
Rs 78 450. If a company sold 525

tablets. Then, find out in how much
amount did he sell all the tablets?

o pri f-oné phone tablet i

i »

lets » we will get the total amos

Cost of one phone tablet = 78 45)
Total phone tablets = 525

The cost of 525 tablets = 78450+
= Rs 41 166

S0, the company sold 525 tablets for Rs 41 186 250

=Ty Yourself

Multiply the gre;;test 4-digit number with the

greatest 3-digit number, Multiply the smallest 3-digit
number with smalest S-digit number.

\ ‘___u__‘_____g;:,,,/
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- Unit 1: Multiplication and Division
ey

?@,ucs Now, we will multiply 32 and 5
in a different way. |

First of all, write 32 in the expanded form.

32=30+2

30 + 2 horizontally and 5

ite .
NoWs b id as shown in the table.
” sertically 1" agr 5

-y each number in the horizontal cells
i) twlttrllpeynumbef 5 in the vertical cells.
by

30 2

all the obtained numbers.
150+ 10=160
As, 160 is the product of 32 and 5.

1.Solve the following:

(@) 631x 4 (b) 431 x 35 (c)8 434 x 31
(d) 8046 x 678 (e) 7 601 x 546 (f) 41 175 x 80
(9) 79762 x 15 (h) 63 506 x 303 (i) 11098 x 237

i ill he
2Ashopkeeper sold 34 523 m cloth in a week. How much cloth wi

sellin 21 weeks?

3 Uagat earns Rs11 045 in a day. Find: ”
(&) How much money will he earn in 365 day;‘: '
) How much money will he earn in 2 years:

an
te Factory, 20 134 notebooks were printed in & day. How many

"%ebooks will be printed in 210 days? tour of Naran and
. ou
Bach Member of a group give RS 34 156 for a J ow much money

29an, If there are 345’ member of the grouP: the
Wil th& r

g oup coneCt a|togeth8|'? | /

2

h
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[ Mathematics 4 e e i 4 Unlt 1: Multiplication and 0M1

| Division

84 students from a school went to

visit the river side. They were given | %7
a boat to visit. 6 students could visit | -
the river side in one round. Inhow | A, 73 -
many rounds will all the students ity
visit the river? ") L Lur oA

e —

Dividing the total number of students by 6, find | ~g
out the number of rounds taken by the boat, SO J- -\ .:h
‘.\\":‘-;. _.

that all the students will have a boat ride.

Number of students visited the river side = 84
Number of students who could visit the = 6

river side in one round
Total number of rounds = 84 + 6

F 84_divide the highest place value
d

igit '8’ by 6. :
~—— quotient

(Recall the table of 6. 1x6=6
Write 1" as the quotient and write 6 14
—6| 8 1—-— dividend
=0

S JL

below 8. P
@ubtract 6 from 8. 8-6=2 ; 24
Ujrop downd nextto 2. Now,we have || —24

number 24.

J 0 — remainder
4%6=24 )

Write ‘4" at ones place in the quotient

and write 24 below 24 and subtract. divisor
| So, the remainder will be 0. 2 '

| 84+ 6=14
So, in 14 rounds all the students will visit the river side.

ViTEEs—————— _ 4.-/‘




WAA? Zm ﬁnd quetient and oz v,n, ‘
;ﬁ 1986 <« Oy At
/ o] 9528

Ree' 48
4 7 2 | ':’ ‘,ljp ’..r/
~ | '
432, Quctiors = 1
408 Hetmaindsr = 4
=384

| ,
24 < Remainder

m,,”sssegoblodubam -Jr,. £ 1
paamequaﬂy‘ﬂﬂ “

Forthis, 1455 willhave . 14 aF
tobe divided by 12. ~
&8

A \S

urte of 1ego blocks = 1455
liumies of packets = 12
e of lego blocks = 1455 <12 j
it 4 121 «— Quotient
12 P 455

A2

25
- 24

by ‘

m;;zbefolblod(s in =121 | 15

, w0 0k Dl
Fermsining blocks = 3 o Fccmainder




o UL S AN e e B R
‘i.:ll_.1'l‘§.“"'._ G Tt

_ Unit 1: My Il
M _ﬂ‘?.” Hilca
.M.amﬂﬂ; 1y sold WO types of USBs, Type-1 and
?yt;c:?zp Total 9 655 USBs were sold. In which

3571 USBs were of Type-1. Find:

(a) How many Type-2 USBs were sold?

hopkeepers
-2 USBs were sold to three s ,
P Itrh.crs}:lphow many USBs each of them got?

he number of Type-2 LUSBs,
htract the Type-1 from the total numbe,

(b) So, each shopkeeper gets 2028
Type-2 USBs.

[y Yourseir

A shopkeeper has three coloured
blocks. The blocks in blue colour
are 245, The red block are three
times more than blue blocks. The
green blocks are 415 less than the

red blocks, Find the total number of
locke?

M__"_
T
Not For Salo - PESRP M
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he numbers given in the hoygg are
ihe product|0f the numbers given,
i the two circles next to thege
squares: Find anFi write the
correct numbers in the blank circles,

e the following:

f ) ©

d
3W 451816 42)6972 ()227545
) (f) (9) (h)
79568 31i9641 12)2868 3257392

193+ 11 (j) 1056 +8 (k) 1 848 + 88
{4662 + 42 (m) 6125 + 10 (n) 2 060 + 23

In45 relief camps, 2 244 blankets were distributed. How many
t blankets did each camp get?

F

11107 chairs are placed in 27 rows, then how many chairs will be
Ihere in a row?

f3032 biscuits are packed in 11 boxes, then find out how many
biscuits are there in a box?

3. 116666 books are to be kept in 33 cupboards in a library, then how
% many books will be there in each cupboard?

- Saad bought 10 washing machines for Rs 78 950 and an oven for
Rs 21550, Fing:

@ How much money did he spend altogether?

) How much more amount did he spend on washing machines
han an oven? |

0w much amount did he spend on a washing machine?

‘30 bags, 1 350 kg rice are packed. Find:

| &) How many kilogram of rice are in one bag?
ked in 38 bags?

") How many kilogram of rice will be pac
: /
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| Mathematios 4 Unit 1, Mty .‘
t
f Patterns

flbmhlm Ionrns row new words wi(f,
| meanings every woek. In the firs(
& wook, he learnt 3 words, In the
2~ sacond week, he learnt 5 wordsg, |n
a;\ the third woek 7 words, In the
fourth week 9 words and In the fifth |:
woek he learnl 11 words, If he D
keops learning new words like this |~/

then find the number of words he
would learn In sixth week?

ettt am———

Write in order all the number of words that he learnt: o0
3,579 11,
Now, identify the rule in this order,

ALY
3 5 7 9 11 13
NNAN

+2 +2 +2 +2 +2

S0, he would learn 13 words In the sixth week.

Ibrahim is learning with a speclal order. Here,

the rule Is "adding 2" means to get the next term,
we add 2 in the previous term, This

sequence Is known as @ e pattern '“g:r”:, b

Y ursolf one memu™ = 4t
arithmetic sequence, /)19 / number In this P
Find the next two terms Is obtalned rmmr
of this sequence, another membe’™.

5, 10, 18, 20, , number.

T s s a0




Now, observe the Pattern given

above, identify the rule anq find
out the next two terms.

ot terms of this pattern we observe

ubtracting 3 from the previous term get the next

15 12

e rule of pattern is subtracting 3.
}; ext two terms of this pattern will be 15 and 12,

— —

ﬁgcanobserve 11213(4|5|6|7|8]09!10

aent patterns in 11]12]13]14|15{16{17|18] 1920
‘taris or tables. Look

21(22|23|24 (25|26 |27] 28] 29|30
dtegiven hundreds 31(32|33|34 35|36 |37]38]39]40

) 41(42(43|44 45|46 |47/ a8]49(50
®pattern of red boxes shows 51(52|53 |54 |55|56 |57 58|59 |60

deach next number is

: : 61|62|63|64 |65 |66 |67|68|69|70

m{: ,Ei;gg'rng 1040 the 71|72|73|74|75|76 |77| 78| 79|80

. 81|82|83|84|85|86|87(88|89]|90

['“E"IL"V& from 95 to the top, 91(92|93|94|95|96 |97| 98 |99 [100

€ yellow boxes —
et vy s it i 1Y YOUISBI)
%cti:; |1s1being formed by Observe the hundreds chatrl maant: :r::;; '
®ioug p, from the least 2 patterns of drﬁt;eg netrend
Mber. operations. Also find

\pattems.’ il

r ————TT 3‘-"'"‘_1
e SWUdents into two groups, ask them to make atleast 5 patefte, e -
e njgg o L2Veloped by e groF:JSp to the other group and ask thefm to ey
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D

' — — ~ Unit1; ”"mﬂn‘lc.
The table below shows lhe number of pages of a sto “%Qi
daily. If she continued to read the pages of the story Wltheh ™, |

pattern, then how many pages would she read by Ffiday? 31rr‘
If we observe the terms of the e
number pattern in this table, we Pages Read \la
will find that two pages are being 2 “""“\“
added everyday. Its means, this — | Sayy,
is the pattern of addition. 4 m
Rule of pattern: Adding 2 6 *‘“M\f
12,4,6,8,10,12 2,14 ﬁ__%
So, Shehrish will read 14 pages 8 s Tuegja!
till Friday. 10 m
*|
12 m
| T
Try " 1 g
Complete the patterns.
(a)2,35812, .
(b)40,352922, _ ,___.

1. Observe the given patterns, describe the rule and write the nexttu
terms.

(a) 11, 15,19, 23,27, ___,
(b) 30, 60, 90, 120, 150, ,
(c) 6, 12, 18, 24, 30,
(d) 850, 800, 750, 700, 650, .
(e) 106, 103, 100,97, 94
{f) 284, 288, 292, 296,
(g) 560, 540,520, 500,




Wi i - Unier; Multiplication gy Divsion’
Vﬁ;cn chart and find atleast 5 patterng Also set the
', theé
e atterns.
730% for thes® £ S
rJEFT2345678910
N [ w2[13] 14|15 1617 18] 10| 20
Q }ng 2324|2526 (27|28 29] 30
) 51| 323334 | 35|36 |37 | 38 | a9 | 49
d 41] 42| 43| 44 | 45 | 46 | 47| 48| a9 | 50
" o1l52|53|54] 55|56 |57 |55 |59 g
2 61|62 |63 |64 |65|66|67|68|69]70
H
1 [lrzlva| 74|75 76 77| 78 |79 a0
g1|82(83| 8485|8687 888900
91(92 |93 |94 |95 (96|97 |98 |99 100
Ohserve the table given below and describe the rule of pattern.
DSeV
(b) _
gl |l seNERRii ofif tiemn
i Boesor Total number of blocks
Helght of the plant Bloaha .
1 20
1
4 cm . " |
¢ 8 cm
ST : 0y
3
bt 12 cm 4 -
4 o S AN
N— 16 cm : o
— L M T
SM 20 cm =




| —_— AT L

. multiply 5-digit number with 3-digit ”Umbe;s
. solve real-life situation related to Multplicagi
~1Q

with 3-digit numbers. o “digy .
. divide 4-digit numbers by 2-digit numbers m
. solve real-life situations of division of Y Numbﬁ\’

4-digit number by 2-digit number. : Dig“bem |
. solve real-life situations using appropriate | * Mul, |

operations of addition, subtraction, ) E;thtselfnnn

multiplication and division of numbers, * Tablg
« recognize increasing and decreasing oS |
pattern by stating a pattern rule.
+ describe the pattern found in a given table or chart.
+ complete the increase or decreasing number sequence

L —pumn -

1. Tick (v') the correct option.

A "

(8) There are 4 500 plants in 90 rows. Each row contains equl®
plants. Find the number of plants in a row. |

(i) 100 (i) 10 (ili) 5 () % |

(b) If the price of one book is Rs 250, then the price of 22 bookﬁ‘I

i o i ' 5:}'
()Rs5555 (i) Rs5550 (i) Rs5500 (™'

(c) By dividing 3 960 by 88, we will get
() 41 (i) 47

Not For Sale - PESRP
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| isoblocks. There are 1 205 lego
ipblocks Zaeem has in total?

Unit 1: Multiplication and Division’

18, 30, 42, is .
(i) 56 (v) 46
n 88, 78, 68, 1S .
(i) 48 (V) 47 |
N e fol ing: |
el (b) 743 % 12 (c) 4 324 x 41
% " (e) 67 453 x 345 (f) 78 965 x 453
1 S
following:
" ih; (b) 196 + 12 (c)2925+6
el (e) 1766 +22 (f) 2 205 + 49

+61
394
capacity of 45 passengers. How many buses would be

45 has
b 4for 1579 passenger?
distanceé of 1 288 km in 23 hours. Find:

ygaf COVEIS . .
istance would it cover In one hour?

tow much gistance would it cover in 11 hours?

ys Rs 23 452 as one month instaliment of the car. Find:
h amount will he pay in 2 years?
mount will he pay in 3 years?

sister gives him 4 more boxes of
blocks in each box. How many

How muc
towmuch @

1zem has 1 867 lego blocks. His

ite the next two

?fféewe the given patterns, identify the rule and Wr
s,

Thats 21,

mm, 90, 80; 70' 60




Factors and Multipl

- Wi
b
i

" Aftor comploting this unit,

os for 2, 3, 5, and 10.
2,3, 65and 100n numbers

gfbutcomos

you will be able to:

« Identify divisibility rul
~+ Use duvisibility tosts for

up to 5 digits.

e Identily and differontiate 2-digit primo and
| composlita numbers.

« Find factors of a number up t0 50. :
List the first ton multiplas of a 1-digit numbar. |

Differontiate between faclors and mulliples.
« Faclorize a number by using prime factors.
Dotermine common faclors of two or more 2-digit

numbers.
Dotermine common multiplos of two or more 2-digit L (L]

numbers.

has equal number
T of books. In how many ways can

Scanned with CamScanner



thal @ NUMDE! (5
ﬂ‘“ ules thatl wousd help us

: !-:Q r,, “.r’ r

-
¢ y-:-‘"r

s IS
i
! e

- S 2
Al theseo NUMDOS are drisilie ty 2,

v

e sum of all ixgits of & nuMbo? - Btsilie by
ihen the nUMDe? is divisiie Uy )

3

4

All these numbeérs are divisible l:r/é’,
83 is divisible by 3. 28 is not dnvisibie by 3
v 6e3=9 2«8=}_G
9is divisible by 3. 10 is not divisibie by 3

il
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If the dlg|t al the ones place ls 0or 5 Ihen lhe
number is divisible by 5.

The lotal number of pages in a book are 98,230.
Can we divide these pages Into groups ! of 57

If the digit at lhe ones place is 0. then the number
is divisible by 10.

o) Try itl |
Ifta'numbar is divlsible by 2and | | Write 5 numbers lhat arB oomp"‘"

o) n the number is a!so divisible by 2, 3 2'1__/

o by 10 :
ST - J‘
) Give nuhwdsofnumbersmmﬂtﬁ divisibity N"*‘a

Not For Sale - PESRP



he numbers that are divisible by 3.

()
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. Factors and Mmltipl.;;s‘\J

-

harpeners

Fawad wants to put6s N rows g
each row has an equal number of Sharpen;r;ha‘
how many ways can he do this? -In

Ilowing

=

et

@Eﬁi&MEQigﬁiE/

@ &
e g o

S

@ "
: k-_.:_.

2 rows of 3 sharpeners 3 rows of 2 sharpeners 6 rows of 192*"
2x3=6 Ix2=6 6x1=t

Factor Factor Multiples Faclor Factor

=

1x6=6

1,2,3and 6 divides 6 co

fact
. mpletely. Therefore 1, 2, 3 and 6 ar
6 and 6 is their multiple, A

Multiple is the product
when we multiply one

number by an other
Number.
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~ Unit 2: Factors and Multiples

Every numbef isa factor
of itself and 1 is the
factor of every number.

the —
4 out - = =
s 21- 1x 21 =[Try Yourself
B What is the greatest composite
£ 21=3x7 number between 1 and 100 and

/ 24 = 7x3 .|whatis smallest composite
7, " {number?

;,;:tors of 21.
merefore, 21 is a com

| The numbers whose factors are more

posite number.

than two, called composite numbers.

fdout the first 10 multiples of 2.
‘wind the first 10 multiples of 2, recall the table of 2.

S the first 10 multiples of 2 are as follows: (1'8\.\\20}6\,
24,6,8,10, 12, 14, 16, 18,20 16\",;9--'!9“‘-1\ K1)
E four > R
erourself 14 )

T \‘s_-./\6-,5,.|4 N
How many numbers that 10 :‘/ ‘?‘“—“':'T/S )
>y @‘eir multiples? ‘1} {\1 0 | &

= e ———————
e s o e 1

ot o i-';l-j-——--ﬁ.__
ind the students tell the difference between factor and multiple. Ask

10- Vrite some numbers in their notebook and find their factorsand
‘ : ards o dents and askthemlo



T
. ' TR,
Find out the first 10 multiples of 7. oy

To find the first 10 multiples of 7, recall the table
So, the first 10 multiples of 7 are as follows:

s et e e e

17,14, 21, 28, 35, 42, 49, 56, 63, 70

e S e i e S

Let's consider the factors and multiples of g

| Factors of 8 I

8 =(1)x8
8=02x 4
8 =@x2
8 =(@x1

1,2,4 and 8 are the factors of 8.

The first 10 multiples of 8 are as follow: ____,%
——— o Try it ] [§ |
8.16,24,32,40, 48, 55,64, 72,80

|
=<2 N i ime numbes |
Write 5 prime il

1. Write all composite numbers between 30 and 50.
2. Encircle the prime numbers.

(a) 15 (b) 31 (c) 42 (d) 67
(e)11 ()52 @o - (W8

Not For Sale - PESRP
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36 46 56 66 76 86 96

ICP IS
©10;

/(..a

7~

’ hars
: v fest 10 multiples of the givell numbers




s find out the factors of 8.

g =18 |
3,224 |

Let’

we find the prime factors of 8.
fB - 2| 2| 2
9 2and 2 are the prime factors of 8.
P'rime factorizalion of 8 = 2x2x 2
N
Do you know what is
prime factorization?
The process of writing @ number as a product of its factors
is called factorization. The factorization in which all factors

are prime s called prime factorization.

Let's
prime factor ©

Find the factors of 30 that are prime. 20
Prime factors of 30 = 2,3,5 3

5%
Prime factorization of 30 = 2x 3 x5 “‘1”

Common Prime Factors (When two or moré numbers
have the same prime factors,
those factors are called the

common prime factors.

W numbers on the writing board and ask the studens oft
"iza'ﬁon RTINS ary

- =
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prime factors of 12 and 16.

mon P 2|16
e Gom of 12 —
A jizate” 2|12 28
G T
.m*‘ﬁm iz stionof 16~ 2jx2x2 2|6 2| 4
| ; 4
P o0 3 2| 2
%0"8:2'2—_;‘/
0
mmn"
factors of 18 and 2?
mmon prlme
L 18 3| 27

g factorization of 18 = 2 >< 9 3
] : 3 3
, rization of 27 = 3 %3

‘mme facto ;

1
gmon prime factors

Fod the common prime factors of 9, 15 and 12.

e factorization of9 =(3|x3
‘frme factorization of 15 =|3|x 5
fime factorization of 12 = 2% 2 %

{onmon prime factors = 3

@ the-mfhl;non prime factors of 30 and 45J




Common Multiples Unfrz_.-ﬁ%‘-
=ind the common muliples of 6 and 8 \
To find the common multiples of two or more n

some multiples of these numbers, then we will o er, r'fsu.,
multiples. Cirla the czh"'\
Now, we write the multiples of numbers, thep, encirg ,
multiples. Cle the

Multiples of 6=6, 12, 18,(24) 30, 36, 42,(48) 54. 6
Multiples of 8=8, 16,(24) 32, 40,48) 56, 64, 72, 80

First two common multiples of 6 and 8 are 24 and 48

[A number that is a multiple of twdm.
|

is called the common multiple.

ﬂ‘%

A
I Sl — = \\g e
 Find common multiple of 10, 15 and 12, '

Multiples of 10 =10, 20, 30, 40, 50,(60) 70, 80, 90
Muliples of 15 =15, 30, 45,(80) 75, 90, 105, 120, 1351,

Multiples of 12 =12, 24, 36, 48. 72,84,96,108 |and1s b

The first common multiple of 10, 15 and 12 is 60 i:::g:‘e m:i]

and 24.
L

Not For Salg PESRP
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> o ~ Unlt2: Factors and Multiples

2 '-{bﬂ prime factors of the given numbers.
. Coﬂ]ﬂ _ =—am _ e o
L ? 10,20 E24, 32,18
18 —

71 21,28 ‘
4130 : L ? e i G \
gl ? 13, 39 5, 30,112 -_

common multiple of the given numbers.

o
71 Ul ‘

| have learnt to:é
R TR o o7 oeielen s LD

————

bmﬁfy ihe divisibility rule of 2, 3, 5:and 10.
s he divisibility rule of 2, 3, 5 and 9 for 5-digit numbers.
Henlify and differentiate between prime and composite numbers.

fnd the factors of numbers up to 50.

fndthe multiples of 1-digit numbers. [ Vocabulary 9
hdfhe difference between factorsand | Prime Numbers
Multples. _ . Composite Numbers
indthe common prime factors by prime |, pivisibility Rule
dlorization, . Factors

indthe common factors of two or more |. Multiples _
Mmbers, . Prime Factorization
"_r"'d the common multiples of two or o

% Numbers,

|
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1. Tick () the correct option.

(a) 13is a number.

() composite (i) common (i) multiple

- v

) I of the all digits of a number ig diVisible; ) a

number is divisible by 3. Yt

(i) sum (i) difference (i) product T
(c) Prime factorization of 24 is: i

(i) 8x3 (ii) 1x24 (i) 2x2¢2x3 2 ‘
(d) The common prime factorof 2and4is

" , i

@M1 - (ii) 2 (iii) 4 ) s I
(e) The first common multiple of 5 and 10 is _

(i) 5 (i) 10 (iii) 20 (iv) 5 |

T ——

2. Use the divisibility rule to complete the given table below.
Divisible by 2|Divisible by 3|Divisible by 5| Di




I Unlt 2; Factors and Multiples
60 ,npot‘-il(‘- numbers.
st 14
e qumbers between 21 and 60.
ne
| -.-:-Ff‘; Jorsof the given numbers.
W fa
o e ™ (b) 25 (c) 35 (d) 46
0 (f) 16 (9)4 (h) 47

3 (j) 20

3 first 6 multiples of the given numbers,

it (b) 6 (c) S (d)9

e prime tactors of the given numbers.
7l (b) 19 (c) 22 (d) 15
(f) 21 (9)8 (h) 30

i, .

A (j) 38

crithe common prime factors of the given numbers.

10 (b) 16, 24 (c) 28, 56, 14
e (e) 12,6, 18 (05, 10,20
' 72 e first common multiple of the given numbers.

527 (b) 6, 10 (c) 12, 14,18
41,30 (e) 5, 15, 20 (f) 6,12, 15

——
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f Learning O _ :
Af; -;compiet :g\thls unlt you wlll be able to: - ’
(.\? nlza like and unlike fractlons '
o-Comp aro fwou hke fractions by converting them to

S equwalont fractions 'with the same denomrnator

. simplify.fractions to the. lowest form
. Identify (unit; pmper lmprOpar] fractlons an\d\ mixed
(- \

‘m"!"b?fs . 1 \J\ "[“——"’"
/s “Convert ir‘npropor fractrons lnto mlxed numbers and

’:) vice versa. .- 4
7o Amange fractions ln asoendmg and descendrng order,

/ 'fractions with like denominators. -
; Sublract fractions with like danomlnators
\ Multip ltiply-a fraction (proper Improper) and mlxed
. number by a whole number
\ no ‘Multiply two fraclrons (proper. Improper) and mrxed
numbers ¥
-Dmde a frac!ion(proper Improper) and mlxed
“ numbers by a whole number- |
. Analyze real life srtuabons Involwng fractions by

i - Identifying appropnate number operatlons

o

—

Danyal desrgned a garden in his home. On one-tenlh of
Qlarden he grew roses. On the remaining part, he 9€"¢
plants. How many parts did he use to grow other plans’
' Q ‘o)\,f:’:’-

Not For Sale - PESRP A
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wff_w!lke Fractiong
G _'“_'—-'—-—_________‘__-_‘____-_
xomal and Waleed start to ream
_ k. Komal reads T pages of the1
pook in ON€ day gnd Waleed read -
ages of the book.

ry -
I

e

se fractions by using diagram,

3 :

—

- 4
The denominators of both theafracﬁms-\
are same i.e., ‘4’, Therefore, 7 and

4
are like fractions.

T -
s =
)
\
\

Fractions with same denominator
are called Like Fractions.

T
4

2 _-and-§-
re,7.7 -



e S
riathematies: ; 2 u,,-,,},__ﬁ
t's consider g ®" Sr;"—-—" "»
e r‘
—
4 2 “
9 3

4
minators for 9 and = 3 are different.

Fractions with different denomlnatm
called Unlike Fractions. \j
¢

Therefore,—g— and -%—are unlike fractions. 3

The deno

-Eﬂy Yo;.l};elf Ay

e i |
d) 4cs S HE |
)5 BJ

Separate the like and unlike fractions.
13 4 7 1 3 4
)l (b)) =i-— (C) =
”88“5119 (c)75
(fgmparmg unlike fractions

\

___.---'-""l

(Hadia and Muaz have 2 pizzas of the same suze:l

| £ outs her pizza into two equal pieces and ate oné
Muaz cuts his pizza into 5 equal pieces and e’

\

e

Writa dlﬂﬁmnt fraCflOn so

| of it. Who ate more pizza?

_/'/jk

entify like and unlike fractions.

n the writing board and ask the Stﬂde’"s




Urilt 3: Fncuof".' 1

& @ ﬁnr“e the eaten part of the pizza in fractip,

. et fraction into their equivalent fractigns

3
1 d5

(A E:OHVB” these fractions
L

jont f

jons. .
rﬁlo gquivalent fractions,
Iﬁmes:e fractions with a number

=5

I;Zrlzedenominators same.
x5 5
'E"’2x5 10
g 8x2 6
T 5x2 " 10

MR
e ooy

|

T ———
y
i)

— s

To compare these

— - J
» T e
: Lo 2 Lo Not For Sale - PESRP

L > -

L4 Y Y.

| V ract

\ Yy rrd ﬁ
— e —— -

Fractions are to be called
equivalent fractions, in
which numerators and
denominators are
different but the value is
\same. J

In like fractions, which fraction
has greater numerator is called
greater fraction.

Co_n;l_p—)éré the alowihg:
153 6000

(@55 G377
9 2 12

k( 10 5 (d)B 4is)

dents and give them some flash cards with square grid. |
ur Q_lﬁﬁrent squares and write in fractional form.

Scanned with CamScanner
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pllﬁcétl‘gﬁ‘—c“)f Fractions

Sim

R T ge L\ !
Hamid solves 5 questions out;‘“‘“-\ \
write this in the lowest forn,, AN ¢

=S oy

" (Common factor of 5 anmN
Tows

the lowest form, divide NUMmerator g, ein) N\t

denominator of the fraction by 5 : k of
5 5+5 1\}“?

10 ~10+5 2
Now, there is no common factor of 1 and 2. 2

So,-%— is the lowest form of —.

Lets write —Zin its lowest form.
TR h e S PR

Common factor of 12 and 14 is 2.
Dividing there numerator and

denominator by 2. Sy HY_OUf_seh-
13 = 1§j§ = s Asad have 18%}1‘"&!;5:
: : 7 o]
Now, there is no common factor of 6 cf’"d'es €38
and 7. Write this fraction ns
6 . 12 form.
So, - is the lowest form of v -

([Types ofFractions

Unit fractions

 Afarmer cultivates

/. Sugarcane on one-fourth
of his field. It means that
he EUItivate‘s -1— of his

''''''''

'.;_i‘__‘!‘is_‘,-_"fr - '!1 HEZor T 8

\__ i :
Not For Sale - PESRP T
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" Unit 3; Fractions

Fracllons with 1 as a numerator
is called unit fraction.

/h’\,;;'c;hft)colate | ate its |
i igces out of 10 equal
pr s, It means that | have

3
ealeng of the chocolate. )

oun with the help of a diagram. [‘
5 —
gt | e
ff/’ : Fraction with numerator
smaller than its denominator
is called proper fraction.
- < small than the denominator 10.
ncuon 13 the numerator 3 is smaller than the
H
51{36 is a proper fraction.
mroper fractions

? X Consider the following ﬁgurej

Scanned with CamScanner



These are!lm;r;p'_ei"ﬁ"adﬂbns as:
3

'-.. In—é-. numerator and denominator are same,

ln-:{- , numerator is g'felatér'th'an the denominator |

L

Mixed numbers

Subhan has two packs of | (—(KeyFagy
juice. He drinks one full and | |The fraction iy, -
other half pack. How can we | |numerator Oreater
write it in fraction? . J [denominator i Callgy

—

We can write it in mixed number as:

4 ) Key Fact) .
1-—2— = 1+-§— Mixed number

rrrﬂmhmberf
Mixed number is the sum of whole number 4 | Mixed fraction consis
and proper fraction 1.’ of a whole number an
2 a proper fraction. |

rr - - '.‘.- = ————— : =

| Conversion of fractions
Conversion of imprope ns
mixed numbers

==
————

r fractions to

'Wahead covers a distance of

= / 3 km from schaol to home daily.
How much dis@ance does he cover

wed number. I AREE ]

Not For Sale - pesgp 56



Rz
3 T 7 1
S =24— =a 1
] -6 3777 Ty
l :
I ,1 -
i ymber can be written like this:
4 1
7:3 = 2?
A
{ + +
r"""‘-__d
3 + —g— + a1
] 3
_ o 1]
=1+1+ 3 .
=2+ *T.n_r, Yourself
= 2-;— Convert % and 161" into

mixed number.

hiersion of mixed number to improper fractions

r‘A\hmad walks "2-%— hours in,ag‘ardén .
daily. Convert the mixed nUmﬁer'lntO
improper fraction.

A .

Scanned with CamScanner




' 50,-5-

Ordering of fractions

| ol +1 /-_g..
} %3 -
| /?%_ e
x7 N lmpr oper fraction.
..--'ISE n
- vo ~ 2 into Improper * fractio
[L t'sco;!
tyy (ExIE2
Q‘j" 3
' 18 + 2
=g
20
e
= 73

20 i an improper fraction.

g A\
r” Koy

When WBCO oA\
numbermm b,
fraction, ts g, %
Mhanﬂ

i N
E“ JTry Y°”_’30If |

Convert4T iy |

‘_P_[g_pe_r%‘ :

Ali, Usman and Kamal investina j
business. Ali's share iS = 2 , Usman’s | i

share is —%— and Kamals shar‘e IS
How will we write their shares In |
. descending and ascending order?

1

(To write in order, first 3
we convert these
fractions into like
fractions by method
of equivalent fraction; j

Nol For Salg - PESRP
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e e »
_-:».,.t =

Uni¢ 3 Fra Gtions

g cOMPare Numerator of thg, frach
lons,

NoW of these fraction
o e o8 Bandg

ater than S
50| 182 's gre 2 12
e
12~ 12
5 is greater than 3.
635 72 12.°
8 ©hg|
12 %12

16 83
SO 127712713

e can write these fractions in descending order

IR

bl ' _§__ 'i 3
12 1212

\We can write these fractions in ascending order.
3. .60 '8

32" 12 12

=

Tryltl” |

qamixed number between 2 and 10. | am nearer to 8 than 4. If you
zrzemy fractional part then | am an odd number. Who am i?

FTy 7T TP r Spoye. Co

’, Ea(erg:ise (e

[t the unlike fractions of the following:

b 2.3 8,1 p2.2

it fra GﬂOH .
S'DUDS of students, give them flash cards of differen g
Q and mixed numger) Ask them to convert improper fractions {3

numbar and vlce versa. /
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L

» compare the given fractions and write Symbolg Uy |

3 .-i —g.. 6 0 W
w405 O350 G502 y}

8 S (d)\‘tt d
22 00y @404 A
(e) QDG 127 il T
3. Write the following fractions into lowest form M (
4 w5 ()30 o |
@) 12 45 oy
15 16 4. Dy :

4 Encircle the proper fractions of the given and tick(v) the
number. i

2 b) L (c) = o34 |
(@) ()B 4 ()37 "

3 9 h) 3L N

05 ST W3 07 g
5. Convert improper fractions into mixed number.

8 1 13 2 g

OF (b)5 (©)3; @7 ¢
6. Convert mixed numbers into improper fraction.

3 5 1 3 1
a)2— (b)7— — —— — g
@2 7 (@4 (@5 by O

7. Write the given fractions in ascending and descending orde

3 3 3 3 1 6 3 2]

d) —y—y)— =04

8. Ali have three full and ; e i i
number? one half pizza. How can we

o
9 Mehad buys 1 -;- kg of mangoes. Write this in improper &



- — e -

- — -

- a R i M . & 1
- 2 Eq ..ﬂ Hi "f'
_ i ._3-, TR 4

é&dmon and subtraction of F u'"f:ljl-’ncuom -

( pof Fractions fCtions
ddlo shehzad walks < km
on Saturday and 2 % km
on Sunday. How many
k||0melres does he
walk in two days?

— -

e
2k
i Salueey = 7
|
kan SUN°2Y = 77 m
2
inboth 43YS =777+ 7
5+2 7
S

SQShehzad walks 1 kmin two days.

ﬂla; "72? i Try Yourself
51,2 _5+1+2 .
24 _f_.,.._T S | Add the following fractions:
LS lf 3108 SRS

‘ ="?"' : (a) 2 (b)._+ (C) 3 _7_
g 1 L 2
h g 1"I_ | J

1+ -;__q : |

Wi )
Faria buys =2 m ribbon for her shir

and 75 m ribbon for her scarf. How |
much more ribbon does she buy for
the shirt?

Vake groups of the students, ask them to wite differenl fracﬂorlS(;V‘—ih B |
®‘m denominators) in notebook and ask them to add these fra 5

. —

'_ e P

o ——
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uanara !

,l___{
Unhl ! b

- 9
Rlbbon for shirt = ‘ﬁ‘m !
7
Ribbon for scarf . Tgm
5!
9 7
Difference = 5 - 5
_8-7
10 ¢
2 _
T L
2 ibbon for her shirt.
So, Faria buys Tb—m more rib
R 15 ET Yourself
| Subtract-7|41- from =7 - = |iry Yourself),
| : 5 4 _5-4 Solve the following fragig, }
| LR
| - i—%(b)l%"%i
5%
12

of biscuits?

Maryam wants to make three kinds of biscuits. She needss
of flour for first kind ,—-cup of flour for the second and—5-cup 9'
flour for the third. How much flour will she need to make three inds

—

-’,CUP

I Maka gmups_of the students, ask them to write different fra&ﬁ:::m@

(wih

same denominators) in notebook and ask them to subtract

Scanned with CamScanner



- yowing fractions and write the ANSWer in the
N I‘5 (b) n,.n ?lowesy for
82 13 13 () =, 1
Ty (O 5+ 2
Lez 16 16 2,12
o smallest fractions from the greates frq ey,
" T |
) R TRETY @1, 7
173 " 12°72
1.5 ©5 5 HmL, 4
S 10’ 10
i il (h)y=>,3

PR 4 i
o palnts i part of the wall in first day and % on the

w4 day.
ruch wall does he paint in two days?
+4tich day does he paint more?

b o | / o
i ertficial fertilizer and v kg of natural fertilizer have been

#nafeld. How much quantity of both fertilizers is used?

2
Z¢4her math homework in 10 hours and her sister did her math

O
TN m-1-6hours. How many hours did both take to complete

s - ,
Il "l Omar invest money in a business. Shiraz gets % share

| iy 11 Share of the profit. Whose share is more and how

Scanned with CamScanner
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"""" ~  Multiplication of F’BCtion- "“:\%“;ié

l..

Yo
[k

L+

4

tiplication of Fraction by a Who),
Government wants |
to construct 90 home
in an area. —G-of total
homes are completed.
How many homes

ted?
(ars comple

Mul Number |

Total number of homes = 90

rry YOllI'sé] '
f -

5
Constructed homes = 1
5

) Multiply the folly,; |

=6 X1950 whole numbers "0y
5x80 (a) > .

_ g X 12(b) 19,
’61 - L 8 11 xn(*

=75 |

So, the government has constructed 75 homes.
Multiply 5 and .

2
S
2

B R —
E @ Make groups of students, give them flash cards of difierent &
| X @Sk them to multiply.

"“F“SNG-PESRP— R

2
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3 . 5 1 Y ey

Lets multiply oy and =X

__3_\._5_ 3NS5
46 T INE
4
s
Vi _,_.wofbl arain, Haris lakes-;i-ol I

nas
Fa “How many Kilogram of grain does he
AN
&‘Ii m‘m Nadla
. S hoW much grain Haris takes from Nadia we have
3

—

2and=-. 2
mu{-‘he a 4 6‘3‘\-%—:20

2
3o, Haris takes Skg of grains from Nadia.

.;_';‘. : .g- 3 -1- \
mutiply 42 with 51

51‘ X 4 —2-— = H— ...2_2_
2 5 2-=-5
Ehig When we multiply two mixed
121 numbers, their product will
_ 242 always be a mixed number.
A0
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l"’To:.of Fraction by a Whole Numhg, U"h;‘,. L‘{'*
Divislo

e 1
_ ;zamg_r_l;.d[lnks 35‘5‘ litres of Water |,
:muqhwaler does he drink dajly?

v To find, how much water he drinks

divide 35 by 10. N
1 1 ¥ 1) "\
—_— ] —_— R
355 ALO 355 % 10 eplace lhedm 4
\\ / SYmbm b}'m ,E'Q:
= Uiy
o, andfopyg
“y 1 10
" 2710 (
Al
- 20
a1
=3 0 !
; 11 |
So, Zaman drinks 35-0- litres of water daily.
Let's divide-g— by 7. 3 s
_ 3 3,1
_ 3x1
T 4 x7
-3
28

Trylt! | %; |

%of 480 animals in the Zoo are rabbits and -%— of them are whie. |

Tell in fraction how many rabbits are white? ’,._—/

: , — e
| @ Make groups of students, give them flash cards of differen! fracto

jo nut?

WhOle numbers and ask them to divide these fractions by whole T

ol B

\-\

Not For Saie - FESRP
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me d

o? g 3
3 ‘ b-—x— (C N -3_
ﬂ'ﬁx% PAT0 T @rd.s

4156 127°97% 7 (g)‘g;'x_l_x?l.
I’ - Lo

salhe following:

e r -

2 BT (¢)3z+9 AN

gﬁ'z 1: % (d) o7 3

12 18

f:’;” Y (@24 +3 (h)%ﬂe

Lﬁewe;ght of 5 packets of sugar is 4—%— kg, then what will be the

glof 1 packet of sugar?

[1:5ha's age 1S % of her sister’s age. If her sister is 20 years old.

awold is Ayesha?
1

|

mal will distribute 4—5— packets of candies among 6 children.
:fowmany packets of candies will each child get?

Itedstibutes these packets among 9 children, then how many
ikl of candy will each child get? |

E’*distance between Hamid's home and masjid is 2-;% kilometre.
enid gogs 1o masijid to offer the Salah five times, then how

uch g
tdistance does he cover daily? .
v B
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I have learnt to: §

P e U
R

. compare two unlike fractions by
converting into equivalent fractions with
the same denominators.

simplify fractions to the lowest form.
identify (unit, proper, improper) fractions
and mixed numbers / mixed fractions,
convert improper fractions into mixed
numbers / mixed fractions and vice

versa.
« arrange fractions in ascending and descending ordey - *a)
« add fractions with like denominators. 0
¢ subtract fractions with like denominators. )]

* multiply a fraction (proper, improper) and mixed number by 3
whole number,

* multiply two fractions (proper, improper) and mixed numbers/ (t
mixed fractions, /3

* divide a fraction (proper, improper) and mixed number / mixed ¢
fraction by a whole number. {4

analyze rea| life situations involving fractions by identifying
appropriate number Operations. !




Unit 3; Fractions

:R“bii_e,w.!ixgrc!sgfg‘il
Mtion.
rect © o
A e iaﬂ proper fraction
e ! 9 - . .
/ W 7 (i) - W L
m | A nimproperfractlon.
"/'sa i) = (i) 3> v 4
| i) =5~ — 4
2 9 7
§
I.‘J/ 3 is equal to.
T 3
3 Lf:/ t4 (ii) 7 (iii) 1 (iv) 2
8
"ty jsequal o
1 = =
N7 .
i dctofl- and 5 1s
#mpro 0 34 2635 35
(L (ii) ——7-" (iif) - (iv) =
.’:'é’ |
(/) the like fractions
5,8,2 2 9 11
2 5 6,2 2 9.1
Aoy (b) 31" 713 ©)37'23'12
12 6 3 9 1
61 2 i ’ _1_ 6 3.9.1
KTRT! )35 7 M35°70° 70
|tmpare the given fractions and write symbols of <, > or =.
AHE L 318 8 ML
KOs ogldyp @5l 92
e the given fractions into the lowest form.
Iy 9 22
'a)m (b)-;—: (c) = ( d)'jf;
‘-Encgmeme unit fractions and tick (v') the improper fractions.
(i]-g‘ (b)_j_ 7 (d) _1_1 ) _J_
(C)—Z' - 5

\ 6
i ‘“”*"-"/
-
‘ T g Not For Sale - PESRP
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6. Convert the improper fractions Into Mixog :
U numy, Un,
7 11 bt !
(@)= (b)5 c) 17
5 | 8 ( ) 3
7. Convert the mixed numbers inlo H‘nprujmr & (93
JC“QHH {
@13 ®)3-2 ()64
7
. : By , (d)
8. Write the given fractions in ascending angq desceng 3 rJI
ing ..
ad.5,6 1 by 2.8 5 | 3 orgy
8 2 7 6 9 9 ¢ 3 )4 ]
; 1 .\'\
9. Add the given fractions. 21 D
1 2 1 7 :
a)— = b) —, L S 4
@33 02 13 5= @3 )
10. Solve the given fractions. i
9 3 8 2 6
@30~ o b33 13 © 37 - 7 (d)-‘;-u

11. Solve the given fractions.

9 2 9 1 8
(a) s %7 ( )411 15 (c) > X7 ; (djs-ﬁqz

1 3 1 7

12. In a garden -1—% of the trees are mango trees. In another garce

of the trees are mango trees. How many mango trees are
altogether?

13. Hania has 12% m of ribbon. She wants to cut it into 8 eQuiF

What will be the length of each piece?

)
14, Jamal Reads —g_ of 140 pages of a book and Farhan reaf:f‘?
more pages than Jamal, How many pages does Farmhan’

70

Not For Sale - pESRp
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[J't Decimals

'n
‘.

OQutcomes

'Aﬂer gomP1®

g8 a decimal number as an alternative way of writing a fraction.
R 2 decimal qumber as a fraction whose denominator is 10,100 or 1000
nize the place value of a digit in decimals (up to 3-decimal pl;;cas]

ction into a decimal if:

ting this unit, you will be able to:

' antify and recog

ident
' yertagiven fra
of the fraction is 10,100 or 1000.

Denomiﬂator of the fraction is not 10,100 or 1000 but can be converted into 10

" 00 or 1000.

vert 3 decimal (up 10 3.decimal places) into fraction.

4 subtract 3-digit numbers (up to 2-decimal places).
t number (up to 1-decimal place) by 10,100, and 1000.
t number with 1-decimal place by a 1-digit number.

mber with 1-decimal place by a 1-digit number
tions involving 2-digit numbers with 1-decimal place using

Add an
, Mutuply @ 2-digi
, Muttiply @ 2-digi
, Dwdea 2-digit nu
, Solve real life situa

appropriate operalions.
, Reund off a whole number to the nearest 10, 100, and 1000.

. Round off decimal (with 1 o 2.decimal places) to the nearest whole number.

———— -

1 :
—— of the house. What is
rs 100 of the

I :
nour home, there is a pool. It cove

another way of writing this fraction.

Not For Sale - PESRP
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here are mathematics bogyg i
of \ the 10 cupboards in the library, Ho Out o
P |we write it in fraction? W cay '

There aré mathematics books in 1 cupboard. Wwe can

G in a fraction like 1 1
wnte:tas1outof10m \TEJ-\&

We can show this as:

il
| 10 _ﬁ |

1 .
1 out of 10 parts = 10 (Fraction)

= 0.1 (Decimal)

0.1 The word decimaler
from latin word decm:
that means theteﬂ

Y
WholeJ [ Decimal J Fractionﬂ
number point part _ |
Decimal is 8 ffﬂf-"
we can write it as 0.1 and read it with a de‘,l‘tfif“{'}'é:jj
‘zero point one'. w

.

Not For Sale - PESRP : .

—d
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...'_..I » ’ N __'_-—Ji-*“"—-&_____,_ e

y Unit 4: Decimals:

. 5hﬂPe-arts are coloured. 3 T
al P N

" onas 3 —!

i fractio” 10 10 - 034

e

wite itas 0.3 and read 'zerg Point three'

we ’

How do We express un-coloureg i T
% parts in decimal? 1
7

< are not coloured in this figure.

| 7
on as —.
g 10

we write it as 0.7 and read ‘zero point seven',

o wite it fraC

o faction

("If we divide a square shape into 100 j
equal parts and colour one part then,
| how will we represent it in decimal

I fraction?

1
— —=0.01
vof 100 parts = 1_166 H 100

10100 parts = 0.01

E‘ranwrite itas 0.01 and
%0 point zero one”’.

k' . -——_—_——__—
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[ Mathematics 4
Look at this figure. Eﬁ:ﬁ’“ﬁ “"“» \
i S I
77 out of 100 equal parts are T || 1 'I-hlﬂ":{lffh" g\
coloured. I g ‘ .'h’;]Q
We write this in fraction ——L T “L“L\J 0
N e o N : ‘“«-«\__x{\
106 O
% J00° T jj
In decimals, we write it as 0.77 13:;::--_% Ry
and read ‘zero point seven — Him
seven'. |
Thousandths

1f we divide a cube shape
<< into 1000 equal parts and
colour one part. How will we

represent it in decimal?
.

1
O parts = —
1 out of 1000 parts 1000

1 out of 1000 parts = 0.001

In decimals, we write it as 0.001and read | Write the hunﬁdr&m:;
'zero point zero zero one’, one thousand in s

—

et ‘_""‘“\

{Plaée\;alueafDlglts in bec_i.ma'ls

(a TR N
Hashim covers distance of 1.75 km to
/ go from school to home daily. How can

we rep_resent this decimal in place
_value chart?

=L

r  Give squared shape flash cards to students and ask them 0 di":;:

l
& Square into 10 equal : s @
¥ itin decimal, qual parts. Students will colour some pa

—_—la_
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—

Pt and 75 is Un N
umber a fractiong| art "'°°=lm.,.

,‘ olen
%sﬂ wh 5 . We e represent it in place value chart rad it ag

sa\"’n i

‘Hundredths .Try YOUrse“

Write 4 kg gg7 3

quantity in demg f wheat

mals g
Place value of each dlg?t gL

Wl" tWI" be the value of each digit in TS

ach digit 18 represented by its  §7 G’
e of elace salue chart as above.  ggim
gd\mep the place value of 1 is i )
J0neS pla1 "= In decimals valye of each
| lace, the place value of 7 is | digit depenqs upon its
;aﬂenths P7 o =01 @lace in the chart,

gyrte itin expanded form as:
)

5
—+ —
1.75=1%30 " 100

175=1+0.7 + 0.05

Jiverepresent 21.304 in place value chart and what will be the

svalie of each digit?
irepresent 21.304 in place value chart as:

‘ | "_[ér,lths'_ | Hundredihs" Thousandths

3 0 4

lue of each digits. Then

)G"'esome flash cards with different digits and ask the students to makea “
ke a new numberand 3

ar and stand in a row and tell the place va
students to change their position and ma
ls with different numbers '




ey

Fﬁmﬁml "tw-en[y one pDint three Zerg f
We

it as 2
read:and place value of each digit:
1] -

———

12" is at tens place, the Place
2x10= o
—_ ‘1'is at ones place, the place valye
Tx1= 4
g is at tenth plaCe, the place Va
3x0.1= 03

'0' is at hundredths place, the Place el

S — \\
Vall.je

Of 1

'4'is at thousandths place, the plac ,
4 x 0.001 = 0.004

Expanded form of 21.304 is: ; 4

3
21.304 = 20 + 1+-1'6-+100+1—0—66

91304 = 20 + 1 + 0.3 + 0.00 + 0,004

Try It! ’?""
' ach digit in
the place value gf each
;ﬁ(’)rllllsmg a%d express in expanded form.

1. Write the given fractions in decimals.

2
324 (d)—
6 1
@ B @5 Y
2. Write the value of the coloured digits. .
(a) 1.56 (b) 45.987 (c) 273.;18-08
(e) 6.340 (f) 12.123 (g) 78.0V2

_—————m

76
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—

/-

(b) 0.7

——, l..___‘_- ) ‘-‘.

/f_.,.v--""" . u 1 e—
- o5 with the help of the given decimalg. "It 4: Decimgis

(c) 0.9

—

S

P —
'—"--
----!!-—_-__-‘

L'--—-___

X —

-
—

¥ e

i
(gipat hundredtns piace,
' ¢olace value of S 1S:

x___ T ———

137391

19isattens place,

e place value of 8 Is
§x =

i Tisat ones place,

he place value of 7 is:
Tx =

I3isattenths place,

be place value of 3 is:
3 x =

195 at hundredths place,

e place valye of 9is

9x -
?|$41|. ,  m—
18R

te p|a

ﬂ'é

i

1 C®value of 1 jg-

(b) 26.9

(i) 2'is at tens place,
the place value of 2is
2 x =

—
————

(i) ‘6" is at ones place,
the place value of 6 is:
6x_ .=
(iii) ‘9" is at tenths place,
the place value of 9 is:
Ox___ =

(d) 99.999

(i) '9'is at tens place,
the place value of 9 is:
9 x = i
(i) '9'is at ones place,
the place value of 9 is:
9 x =
(iil) ‘9'is at tenths place,
the place value of 9 is
9 x =
(iv) ‘9" is at hundredths place,
the place value of 9 is:
9 x =

e

he thousandths place,  (v) ‘9’ is at thousandths place,

the place value of 9 is:
9 x =

. Not For Sale - PESRP
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n
-

[W Sonversior of Fractions ang Degj, ‘&

. 0\
iction to decimals |8
‘ ]

| ion Of fr -
conversio I the science practical exam,. 38 out of 100 b
then convert into the decimal. rac&"

s N

a8 students outof 100 = 755

(@ !.
Convert = into decimals. To convert fracti x""
OMY=" 100 Cin denominator ofm'w."?rth
As, there are 2 zggos after 038 | Countthe limbe Ut'r ‘
| 380 | in the denomjny. &
minator of —. 100 Ommatur. |
deno 100 _39_0__ ° Cgunt the dlglt irl the |
We will count in numerator, 2 ~ 800 numerator from ight g
digits from right to leftand put 800 |, py the decimg i
decimal point before it. 0 according to the nypy, |
38 Zeros. (
= =(.38
100 ’ e ]

Amar has Rs 1000. He buys a toy fm
4] < Wite the amount spent by Amar in decimals,

T
J
J
I
)

{
_299 =
29 utof 1000 = 2% rT,y Yous,
Convert 1000 Into decimals. 299 About 95 ould?:
There are 3 zeros after 1 in denominator of 1000 | patients were t
. i f
We will count 3 digis from right to Jeft in [acovering i
Numerator and put Eoona itk !
2nggpu decimal point before it Pakistan, Wi
1000~ 0.299 M/t

i‘:’ :f\':%oﬁ.?fggﬂf With denominator of 10, 100 and 1000 on the wnhﬂgt;"d
L% conversion, Nto decimals, Ask the students to explain the me

e

h__




teacher divided the students in
¢5, 2 out of 5 students who

d in a game. Write it in decimal,

gooPs
oot cipate

_2_ the denominator is not 10, 100

tion: ~53 ‘;)
In ff:;ﬂ Thesrefo"e we will convert —;— into an | 11'\.'
1 _

{
% ient fraction with the denominator of 10. ‘L-f
uivale g

e

quivalent fraction.

2 jptoe
5 2 _ 2x2 4

5 5x2 10

i 4. imal.
|l . ~-into decima
bl " )
-1—0" =04

-Tfmf[}re, 0.4 students participated in a game from each group.
ned 4 into decimal.
25

4
Lh % — into equivalent fraction whose denominator is 100
4 4x4 16
; 25  25x4 100

ﬁﬁ into decimal.

et

:
1 016

100
—————————————
r Chra e
- b Fo{ Sa!ﬂ - PESRP
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conversion of decimals to fractions i, |
{

The height g};n“\ »

elephantis 3.2 m .
it as fraction, ~Wmel

.
LG (

To find the height of the elephant in fraction, remgys deging, ||
place 1 at the decimal point in denominator, then coun{ thm g,
the decimal point which is 1, then put one zero (0) at 1, *Quﬂ /

in the denominator. ﬂgha 3
32 =
3.2= jla' ;'BTW YOul'SQ"‘
The highest tempe

of Multan is 4.1, el

will be this temperaty,,

frachon? '
______—"—“\

~ Convert 5.234 into fraction.

To convert 5.234 into fraction, remove the decimal point, we wr

the place of decimal point and put 3 zeros after 1, because of i

3-digit at the right side of the decimal point.
5234

5234= 3000

Show 7.74 in the place value chart
and convert 7.74 into fraction.

Ask the stude‘ﬁ
the method o

convert decimal fraction into fraction and also tell

@ Write soma dedmal fractlons on the writing board.
wnvarsion

NotForSale-PESRP




{‘_:-’j/' g. w‘:
|E_xgrcisa 2%\u —
| 1hese in decimal i on
Leent 6
i (c) —— 12
o (b)1 000 ) 10 (d) '5'6‘6' (e) 3
1] 606 250
‘ (g) 0 (h)100 (')-—8—9-. _—
!LL 20 0 1000 () -5-6-
1% o ine follow ving decimal fractions into fraction

(0)2.04 () 6.98 (d)55 () 0.68
P"'3 (9)7_37 (h) 0.98 (1) 11.11 () 6.10

Add|ﬂ°“ and Subtraction of Decimals

nof Decimals

tio

! There are 0.45 units of |

| y. minerals and 0.25 units of
water in soil. What will be the

% quantity of both altogether? |

id out the quantity of
xhthings in soil, we will
atloadd both quantities.

"MTY of mineral in soil = |
*Quantty ofwaterinsoil =  + 0

Roaanen, .
*ntty minerals in soil = |




X

r\.-
4 "V

|T|'y You
Alihas 2,95,
and 1,09 kg Z?N y
much totg| 5,
sugar ang n'cr:%‘l
have? "ﬂh
v r
g temperatu't % ; i i‘ oy . ";
=40 1°C. Which month e
s colder and by how M o3
degrees? | —J e
\—— n=
To find the difference between l (:;
two months, we will subtract the ““--km g/’
temperatures. I s
N
tens | ones | ° lﬂ'.l"
9. . 1
Temperature in June = Sy o 000 i i
Temperature in January = | - 2 ez o
Difference between both = 1 _E_______,_,

months

So, January is 19.3°C colder than June.

Not For Sale - pESRP s
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place in a colump,

A8 ones, tenths f
g om ones rom ten
0 o hundredths, i

| ,/-f—-re% T B
R0 Ll I A S Try

Jf WO decimals is 12.8, o
o frst decimal fraction if | | 7 2 18S two rippg

1 decimal fractionis 7.9, | ne. fibbon js 4
caddin 12810 get 25,87 |Oeris 56, o,
oW — 1 |difference between ¢

L following:

011,603 (b)43.1, 12.7 s
159,298 (e) 6.02, 1.89 (ﬂ)49.é 2
e the following:

;491 -3.92 (b) 7.34 - 2.86 (c) 5.06 - 2.76
1188-6.19 (e) 9.80 -1.09 (f)78.9-7.84

“zrbought a chocolate for Rs 45.7 and a candy for Rs 10.2. How
Fmamount did he spend altogether?

j’:err-.ass of apples is 38.9 kg and mass of guava is 42.6 kg.

ffnd he difference between mass of apples and guavas.

YFind the tota] mass.

e - ST

E;' vill write 3-digit decimal number (up to 2-deci[nal_b_l§§§\2£%ﬂ’gf i
1 rd. Students explain the method of subtraction. : :é fﬁ@

Scanned with CamScanner
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. 3
o Multiplicat"’" and D""Slon o u‘ |
Rgj, |

Mulnp“c"’“cm of Decimals WIKY-19, 100 Or 1009 N’

The length of grain ofm (

cm. If Sameer has 10, 100
and1000 such grains of rice, How
will we calculate the total 'ength':

the length of such10, 100 andmom |

find
Tge we will multiply the length of grains of rice by o
tively. . A
100 and 1000 respec . i
10, . : -_\J 1@
The total length of 10 grains of rice is = 0.9 x 10 [
10 <10 = 9cm
The total length of 100 grains of rice is = 0.9 x 100
=9
_1-0_ x100 = gOCm

The total length of 1000 grains of rice is=0.9x 1000 h

=-2_ 1000 = 900
Eg 10 |
r J

e TOo multlply any decimal number by 10, we move the deoré!

1 place to the right. - .
+ Tomultiply the decimalinumber by 100, we move the

j ]

~ point 2 places to the right. ol

. To multiply declmal number by 1000, we move T




o< pivision of Decimalg
by Wwhole Numbers

omal divides 6.6 kg apples

in3 paskels. How many 3
kilograms of apples are there .
in each basket? 6, )
2 aqrams of apple in each basket, wa ., .
TO ﬂnd how many kllogr e L ;Q’l’-‘;_ g
6.6 by 3. N | } (
Total apples = 6.6K9 ; 2‘2‘; (l
tal baskets = 3 i ogl
l(;ples in each basket = 6.6 + 3 = 2.2kg O th
: L0y
5o there are 2.2kg apples in each basket. "0 '*‘
Maham has 9.9M ribbon. If | _\0;' ‘
she divides it into 5 equal s 0
pleces, then find the length of =l
each piece. .
. 1 ! 9"-
Length of ribbon = 9.5m ; |
Total pieces = 9 Ig? 1
Length of one piece = 9.5+ 5 = 1.9m -Té-{
So, the length of each piece of ribbon o e
will be 1.9m. _E_:

- ]

Eﬁy Yourself — Try It ™) |
(Divide 28by4. j EWrite decimals with one decimé pla?

‘when divides by 4 will ggeﬂ_‘l}%

-f Ask the students to write deci , R——"r
; @ 1-digit number, te decimals with 1-decimal p
B T o a

4
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[Exerclse 4
(b) 4.8 x 100
(e) 4.3 x 1000 (€)0.3 1000
(b) 7.1 x 2 :
(3)1337 C)4.9x4
()9.8x g
(b)1.8+9
- (C) 64+4
(€)2.7+3 (H26+2

)\
6
!5-4* A i of oil to bake a cake. How much oil wil| she
use to

585
kes?

ca
; 5m cloth to make a shirt. How much cloth
e us emlar shirts? villhe use

G
cmﬂlength f one piece of rope is 7.2 m. Iram cuts this rope into
fé
" pieces:
m;;;p il be the length of each piece?
)15 ill cut the Tope into 2 equal pieces. What will be the
]Wh of each piece?
Jned SOIVS 5 questions of Mathematics in 8.5 minutes. How long
ushe take 1O solve 1 question?
- | . - —--"‘—T“‘:-_‘\|
 Estimation

-...

tund off whole numbers to the nearest 10, 100 or 1000

Ina garden, there are 5271 mango
rees. How can we round off the
< number of trees to the nearest 10

@0 and 1000'7




“umber to the nearest 10, 100 and 1gq, @h\
o\ \
\

. \ .\.\J |
mndmg off to the nearest 10: ““‘&

. Ifthe digit atones pI?c”e is less than .

place is replaced by 0", 5 then iy "\
LT T Ulgi‘al

. Ifthe digit atones place is equaltg 5 . A

|
—t 1\

. S !
the dlglt at ones Z'E:)CE ;S replaced by Pornge:re](ajter lhan 0
lace is increased by “1". pre N thg N5,
P So, 2 S8 dlg'{it;\ e
o

and ones places are replaced by “g"

S0, 523~ 50
- Ifthe digit at tens place is equal to 5 o ré;f
the digit at tens and ones places €r thans

r—While rounding off to the nearest 100- \
« Ifthe digit at tens place is less than 5 then

g digi[aue.

{

are rep| N g
digit at hundreds place is increased by “ﬁr:ed by 4 ami
—f SO' _§_7_9 X 900 1

 While rounding off to the nearest 1000:“%11

+ Ifthe digit at hundreds place is less than 5 then the gig
hundreds, tens and ones places are replaced by ‘(" .

e e

So, [1324 = 1000
* Ifthe digit at hundreds place is equal to 5 or greater th

‘tjheun 't'he digit at .hgndreds, tens and ones places are e |
y"0"and the digit at thousands place is increased by |

A So, |4508 ~ 5000

Wﬁtesome wh°|ehﬁll_ﬂibé;§ on the board and explain the memd{

4 ?#I ndmg:g numbers to nearest whole number. Ask the stuée®
~ 8 umbers to the nearest 10, 100 and 1000.

=ratal B
e ———
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-

"

@m’ yourself

a0 ding off t

- 6789 by rounding 0

{W@ and 1000.

|n13|5 to the nearest Whole Number
e

: B |
n(,-,pand agproxlmately
5"“::,rsiﬂ practical work of
174.65 ¢, How can we round off
%%ﬂ‘,},*é’,‘-tothe nearest whole
T he '.

a4 - N ]
f:ﬂ!&"’ by : Y, —~- T -
o - e e pw

ay decimals to

d
m:':zeafef"t whole number.

_—
lerounding off decimals to the nearest whole number: )

Whi :
, [fthe digit at the right side of the decimal point is less than 5,

ihen write the digit at the ones place as it is and remove the

decimal point and the digit at tenth place.
, Ifthe digit at the right side of the decimal pointis equalto S or
greater than 5, then add “1" to the digit at ones place and

emove the decimal pointand the digit at tenth place.

\

e digit after the decimal point is greater than 5
Ylatthe ones place.

so, we add 1to

So,

—

omg the wiiting ¢ nd_e—xpiain_the method pf
°ﬁ decimals to the nearest whole number. & oA

—
-~
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ASAU = _.--____ 0|e "”mber b’"!
As, in 2.45 the digit right of the demmal Point jg Ies »

S thy
S0 24557 "
' )
:&

Estimation means to find a number

trlat is nearest to the ongnal number
L‘ not exact

1. Round off the following whole num

bers to the Nearest 1 10p..4

1000: ’

(a) 9871 (b) 5467

(c) 1212 (d) 6343

(e) 5555 (f) 3498

(9) 1289 (h) 4545

(i) 1111

2. Round off the following decimal fractions to the nearest who's

number:

(a) 5.61 (b) 54.2

(c)987.4 (d)12.7

(e) 8.98 (f) 6.5

(9) 76.49 (h) 8.19

(i) 87.87

Not For Sale - PESRIPI-_ _
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A

|

- : Uniy
' - &t 4 I
— Try It anllem;!jw‘__ﬁ - Clmayg
1o pairs Of 3-digit decimais”, }
W"tesp whose product is { 9 chi 0 2-degiyy,

: X and 3 d )
gigﬁes respectively. Verify o anSWZfrzlmal

3 decimal number as an
e agt .
ﬂgnl_le way of wiiting a fraction, Vocabyjary

Fmam; jocimal nl'Jm1b0er as a fraction * Fractiong
denomi"awf is 10, 100 or 1000 Decimalg

e nd recognize the placg value of Denominatoy

o . docimals (up to 3-decimal * Tenths

lg.gns)' o &k * Hundredths

f)ﬂna given fraction into a decima| if: Whole Numberg

# aninator of the fraction is 10,100 | '+ Roung o

'dﬂ;(}OU- * Decimal Plages

| :,nominator of the fraction is not 10, * Thousandths

'100 or 1000 but can be converted into

{1,100 or 1000.

eta decimal (up to 3-decimal places) into fraction

#fand sublract 3-digit numbers (up to 2-decimal places),
afly a 2-digit number (up to 1 decimal place) by 10, 100, and
.

iply a 2-digit number with 1-decimal place by a 1-digit number.,
five a 2-digit number with 1-decimal place by a 1-digit number
shereal life situations involving 2-digit numbers with 1-decimal
48 Using appropriate operations.

“offa whole number to the nearest 10, 100, and 1000.

% of decima] (with 1 or 2-decimal places)to the nearest whole
imber,

Scanned with CamScanner



e
raction with the denominator s oo, oy (m
(iii) 15 |
()10 (iv)p “\fgo
b) When we divide a shape into 10 equal parts, e, ol
| ath‘-‘--_, 0
called __—— |

(i hundredths (ii) tenths (iif) one T
To add the decimals always _____ Ones in ones, g, (g)f
(C) ) r'kq (d)-

and hundreds in hundredths. k
(i) add (ii) subtract (i) multiply -~ (1v) gy, IRo'J‘
3)
(d) When we multiply any decimal by 100, we move the doch : !

place to the right. j
oL
(i) 1 (it) 2 (i) 3 (iv) 0 "
(e)_______meanslo find a number that is nearest to the g (d)
number but not exacl. K
(i) decimal (i) Fraction (iii) round off  (iv) Estimziz | (3)
(b)
2 Represent the following in decimals:
19 s,
(a) 100 (b)m (C)—24—0— (d) _110?]_ v (:;
= BaEG e following decimals into fractions: (b)
(@) 6.7 (b) 45.56 (c) 1.02 (d) 7 87 (e) 1]
4. Add the following: En
(a) 6'031 5. all,‘ m
% (b)8.28 , 1.24 (c) 128.°

=8
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14: Decimals’ W

g Owiﬂg-
f ""LB () 6.19 — 4.21 (
B 2 c
}.59/2 . ) 5.06 - 1 0g
} followlﬂg-
Wi ’ (b) 8.9 x 100 o4
NG ? i1 (e) 9.3 x 3 5 X“QOU
{:;gli? (f) 7.4 X6
3 | 8 follOWing
5-,5»" , (b) 8.8 + 2 ©) 8.1
|58¢ e)4.8+6 A+9
'”h' 5
.ﬁdofﬂhe whole nuMDPET to the nearest 10, 100 and 1000.
» (o) 1008 (702
T uy (8405 (f) 1717
3
v off the decimals to the nearest whole number.
my (b) 78.3 (c) 13.45
! 108 (e)41.41 (f) 9.82
]
I ength of wire is 3.41m and length of another wire is 7.56 m.
jimat will be the total length?
engths of the two wires?

iimatis the difference between the |

00 {1 e
% ilrecapamy of a pack of juice is 3.4 litre.

}mat vil be the capacity of such 7 packs?
e capacity of a pack of juice IS 2.8 litre,

what will be the




N

After completing this unit, you will be able te.

i
I.
|

|

Learning Outcomes - ]
. i o

¢

e S ———
el o <

it -

Use standard metric units to measure the lengy, of
Convert larger into smaller metric units (2-digit numb
« kilometres into metres ©rs with on Oy,
. metres into centimetres e dﬁu%
. centimetres into millimetres :5‘\ .
Add and subtract measures of length in same Units s
Use standard metric units to measure the magg of c.ii i

Convert larger into smaller metric units (2-digit it Eren_t Objeg

« kilograms into grams €rS with g, & da

« grams into milligrams eﬁlmﬂ%
Add and subtract measures of mass in same Units e
Use standard metric units to measure the CapaCity.of o ,
Convert larger into smaller metric units (2-digit numb , erent con 5
litres into millilitres. €rs with gpge dog mf:.
Add and subtract measure of capacity in same units by
Solve real life situations involving conversion, additidn

of length, mass and capacity. and subzra%nof |

Ifferam Ohje

)

<41

Fa;q Visits a seaside with his friends. There they see a tort¥
2! a Seahorse. Which animal is taller and heavier?

oy c";“

Not For Sale - PESRP
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7 wants to know the
we of his classroom,
3w||| he measure its

- )
‘h..‘

|§ngth of short objects(book, table, geometry box) in

) re  the length of long objects in metres,
(2852 j 2!
RN

e unit of kilometre to measure the distance between two
length are closely related to each other.

P T e W AT -

"—-‘Im =100cm ).'1kmf=1oo,qgh1 "x,

i

—— e 3
e . - -

;( E-onvelu';lan o : units of LengEIL

w2 et - -
- e ——
p—

metres to Metres

(The distance between the first

{ |and last station of Lahore Metro
o)~ Bus is 27 km. How will we find

/ this distance in metres? SAC

e ——

81 cards of objects (rbbons, opes) wih diferent nge B SEEEEE
ﬁhmhse;:r;?: Jt?:;tsot()jects according 0 their unit of lend:
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To find this distance in
metre, we will multiply 27
by 1000.

Convert 27 km into metre.
27km= 27 X 1000m
= 27000m

[Convert 45km 7m into. metre

P o2

45km 7m = 45km+7m

= 45x 1000m + 7m The distance bEtw
Masjid and Dam enm
= 45000m + 7m 7.7 km. Conver
= 45007m Jstance into metsy
Conversion of Metres to Cenitmetres Y

The height of Wall of China is 7 m Ko
)approxmately. What will be its height |{1m = 100
in centimetre?

A
To find the height of Wall of China in centimetre, r
we will multiply 7 m by 100.

!
Let's convert 7 m into centimetre.
m=7x100 cm
=700 cm

—_—_aa—

i \ Students il write some ——
f convert tha se into melre distaﬂces in kllometre |




‘ PRSI LTy = 4
diny P v
A ! i ol 0 a

vert 13m 38cm into cenllmetre
onvert 13 m into cm then add

—————————.

13m 38cm = 13m + 38¢cm

—] 13 X 1000m + 380m
= 1300cm + 38¢cm

= 1338cm

of C€ e a 78 cm long toy car. What will be its
ength in millimetre?

oy bY 10 to convert cm into mm.
7 Mu
: 78cm =78 x 10mm

= 780mm
he length of toy car will be 780mm. 1cm 1b mm' : ]

bm 7mm into mm.

To convert 56cm 7mm into mm first we convert J

56cm into mm and then add 7mm init.

v

almm = 56cm + 7mm

Try Youi'sélf
C Ahmad buys a bag The length of
=96 x 10mm + 7mm | bag is 42cm. What will be the
length of bag in mm?

= 560 .

= 557mm I « If the length of alligator is 4.1m,
il | then what will be its length in cm:?JJ
)m'? wilwtg some distances in metres on the writing board and i

it

mnﬂmeh‘es : e 't,l > 5

v =
S Not For Sale - PESRP
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LN V1 1w
uL"‘IE:.‘_.

e Brercise 13,

v)the correct units of length.

1‘(Ti;:k ( (b) (c)
a

Jﬁﬂ'

e m/cm

nits of length.
9. convert these . :
@) 12kminom  (D)SBkmESHmintom (c) gy
(d) 60 m 78 cm into cm (e)3.2cmintomm (5. & gtn;j
l'nm.

Addition and Subtraction in Units of Length

The distance belweefm

office is 2km 600m and distance pg and p,

tw
office and market is 3 km 200 m, Wha??,;::

the distance between her home to Markep

“To find the distance between Faiza's home
and market, we will add the distance
‘between them.

'\'."""'-"-nnu. 'LLALLTT
o]

/ Distance between home and office = 2km 600m
Distance between office to market = + 3km 200m
it

Distance between home and market = 5km 800

Scanned with CamScanner



dlsmnce into metres we wij Cony rrt":') kM A8uromeny

‘ f‘l in it into
l‘ﬁgi 800”" grm + 800m = 5km + 800m
é
,,d = 5% 1000m + gog,
= 5000m + 800m
= 5800m

on Faiza 's home and market wij| pg = = 5800m

ﬁ’"ﬂﬂ tof the minaret
} eheg asjid is 90m

10 fh 2 S adshahi

om from 90 « To add/subtract
— — e DTS
g | (. \was
.a;‘dof mmaret of Falsal Me:isJ'd = 90m ':;g,t:d;;gt =
ret of Badshahi Maspd =— 60m _same units.

a rdairiod
it _ “3om |+ Addisublractin
&ance between the heights N | intokm, m intoim,
Ll et [ ot into CM a“.d_,,_

- | mmintomm.
: iid and
Hisence between the height of minarets of Faisal Masjid @
S Mesjd is 30m. | R
et surethe
@“ﬁhbons of different Iengths to studer!ts AS“ them t° me_a 3 |

/g o

thﬂse ribbons Add and sub tract the Iem‘.flths e o

A b



S ~% g
| Exercige 5 & ¥
= _cllsre 2 <k U%& |
1. Solve the given units of lengtp,
(a) 22km + 33km (b) i
(c) 82m + 22m (d)7, s Sk, "
(e)21m 16cm + 20m 14cm (0?4:”‘ 2y,
| 22y,
2. Solve the given units of length, '
(a) 99km — 74km
10 (b) 52kn’] 48 -
(C) 47m - m (d) 35Cm G N
(€) 21m 16cm - 20m 14cm ()74km 12""2&,
Mgy
3. Tahir has two pieces of rope. The length o one ni. ‘
and length of the other piece is 61m 12cm \;.;ur‘._.j. >y
length? B
4. Ahmad buys 140cm ribbon to warp the gify box ¢,
into millimeters?
5. Kamal covers distance of 2km 712m to qo from school 1y
covers distance of 1km 216m to go from home 1o mas;4
(a) Find the difference between the distances.
(b) Convert the difference into metres. F
6. The length of Ahmad's room IS Sm 56cm and his sister's
4m 44cm

(a) What will be the total length of both rooms in cm? ’
(b) What is the difference between the length of both "

k 120

;
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Unit 5;: Measurement

gasure the mass of light objects. -
measure the mass of heavy objects.

o measure the mass of small objects
f wheat or medicines. |
B

e
t to find the mass

We wan
of an elephant. Which

unit will we use to fi f nd its

hese units of

we will use kilograms. T

the mass of an elephant,
e dosely related to each other.

| shw, ob
5 lects Of dtfferent masses to students and ask o ks

N e l'dlng tO the units of masf—-”/’_




Ma:m"‘

conversion of Kilograms to Gramg 8

- -

’ /TFO mass of the human brair, oy

%, @ '/[What will be the mass of brain; 1.6kq,
-3 grams? n
& |

—

—

—~—

—

——l

To find the Mass of .
grams, we mump,y 1 5kn in | l
' — 1000. koby |
: . ' | “\
1.5kg = 1.5 x 1000g w
= 7103 x1000g = 15009 ﬂf{xJTry Yo'-'-l‘sq"
N, . The mass of . -
The mass of brain is 1500 grams. ; aw

- Y -

234g into grams. .

S S

To convert 60kg 234 into grams, re;”
‘ convert 60kg into grams and then adq
' 234gin it.

e —

—

60kg 2349 = 60kg + 2344
= 60 x 1000g + 234g
= 60000g + 234




L “uys 500g rice. What will
gmé" , mass of rice in

y 5009 by 1000 to convert
F:, milligrams.

500g = 500 x 1000mg
N = 500000mg

" Let's convert 459 12mg into mg.
e

(To convert 45g 12mg

into mg first convert k %
N
9

459 into milligrams
and then add 12mg
in it.

459 12mg = 459 + 12mg
=45 x 1000mg + 12mg
= 45000mg + 12mg
= 45012mg




el u’”[a‘
- "gmﬂ""“ s btraction of Umt aY
i arld su S of

jon @ My
| Addlt : iﬁ

ins whose m;&‘_f'“- -
s abagd of coin : SS g 5,
Amar ha ran has a bag of coins of magg', 0

m
P ggg g ,INhat will be the mass of both bags ::.J |
gramS? PN }
/ .

-
-/

—

pddition of U

e fotal mass of both, we have to !
f both bags. J“‘ .

----------
.........
...................................

Ll
.
""""""""""""
.
---------

o mass of Amars bag = - 5kg - 60og
Imran'sbag = * 2kg 200

The mass Of 9 g

The mass of both bags =  7kg 800

s 7 kg 800g. Now to convert it int e

f both bags .66
Soe e and then add 800g in it.

we convert 7 kg into grams

- kg + 800 e
g e ’ . Key Fact ————

=T XA To add the units of mass algs

=7000g + 800g add the same units. Add kgirizg
g into g and mg into mg.

= 7800g & .

So, the mass of both bags is 7800g.

e ——— ___________-—’
e
Not For Sale - PESRP :
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. R R e ety =
qunits GrHne Unitg, ,, .
I Ullumm
on

" (oma bakes a cale, i Mass iy go

' pakes @ cake. Its magg i 750 500 q AN S
) 'w_etween the mag 9: What i th hazig ~
' . ¢

: ——ISlW

S of th o'

~—Bkes?

.| To find the differencg betw
the masses of twg Cakeg i |
will subtract. e ‘n\ N

S TR

‘..-...-"'"""""" ""'"'--.."--...""_‘”“": ‘

“ 40 gzia' scake = 750g - -
¥ gpomascake  =— 800g {1 iy aus
ncebetween the = 2509 The mass y

e between the mass of the two

:i"ﬁ 2509'

T3 s ) AR e e Y
[Exercise 3=
et the following units of mass: -
Jkgintog (b) 23 kg 139 ginto g (c)89q
149699 mgintomg (e) 1.9 g into mg (f)) o.ag igt?nﬂgg
wiethe following:
4%kg + 76kg (b) 18kg + 17kg 179
51329+2-29 (&) 71g 2mg + 11g 560mg
A9 16mg + 60g 14mg (f) 94kg 122g + 23g

@%& amme ﬂas_h(?ﬂrds with diﬁefent masses tb fhé studénts. Ask them to
i s“btmt the masses and convert the units.

B —————
s g
X Not For Sale - PESRP
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(n) 99](

the tolal qua

6.

(a)
(b

g
. I\ the fl}”t“"’““.l'
golve

Jamal weighs 67k
What is the differen

) convert the differen

9- 24kg

Jaf?.

ntity of sugar and flour in grams?

g 2789 and his father weighs 8oy, -
924

J

ce between their masses?
ce between their masses intq ar
ams,

\

\\\ Capaclty D

(Waleed has a water bottle. He |
wants to find out the capacity of
the water bottle. How will he find ~

the capacity? ‘z

To find the capacity of the |
water bottle, we use the uit

of litre. g

\ Make two groups of students and give them containers wilh tﬁﬁe‘“ .
capacities andfaskfmam to seperate the containers according
capacﬂy 4 IR G 71 J




'ﬁ._. ’ Wmn—w

e 1L A3 ,&‘

il Unit 5: Moasuromen;
asure the capacity of small containers (glass,

o to ":t of litre to measure the capacity of large
the U
e

we want to find the capacuty of a tuB "tﬂgﬂ
,,W its capacity?

o unitof litre to find the capacity of a tub. The units of
Liqe dosely related to each other

! 14 = 1000m£

e ———— e e e . - —

Conversnon of units of capaclty
L — e

1o Millilitres

Minahil drinks 3 litres of |
< water in a day. How many
millilitres of water does
ﬂe drink in a day?

3¢ = 3 x 1000m¢ = 3000m¢
Minahil drinks 3000m¢ of water in a day.

o T—

g t‘q-.-,.n 9""" Boma llash cards wlth unlls of Iltres Thei' 9" |
" Into mlllllltre X sl
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.. — ';I Semmme Uﬂfts: ."t‘-ll—
A=A e ’U“‘: Try YtJurself

In a huma '
. n bOdy lhg\
quantity of Wate i

Convert

: ]
lhls quanti[‘y J
N‘
i

convert 10 345 mf into m¢, first

To
conve
in it. j

t 10¢ into m¢ and then add 345 my

10¢ 345m¢ = 10¢ + 345m¢
=10 x 1000m{ + 345m¢

= 10000m¢ + 345m¢

= 10345m¢

1. Convert the following units of capacities:

(a) 9¢ into m{ (b) 74£ into m{
(c) 56£into m¢ (d) 90¢ into m{
(e) 67¢ into m¢ (f) 1.6¢ into mé
o millilitres:

2. The capacity of an oil tanker is 98¢. Convert it int .
| 86 ihe @
3. Faria uses 1.7 litres of milk to make milkshake. Conver

of milk into millilitres.

\'W“W .
SEEEEaETs 10
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.L.!ir'..f”f'n‘.m.. TRRE Qe
R et el T L T AR
e )

-
SSSLSTEE R
T—

P Unit 5.
f-{:gﬁb{ action in Units of capacity 1t 5: Measurgmep,

. . DIZZa a
110 make biscults. How much i "M
0]

fos she use to make both things?

v % 0 aﬂ,ﬁtﬁ otfhoil used in both things, we |
po ity of PO
uﬂ“ !
ﬂ-'a .

-----------------
.....................................
.........
..........

‘ ofOII Used to make pizza = 56m¢

[ an 1229, |
ﬁqua:tw of oil used to make biscuits =+ 78,
u ua ‘ . ..:
foil used in both things = 134y :

fl .
S

useS 134m¢ of oil in both things.

1! d 7.6 and convert it into millilitres.

s
e

} 1,24 Q)
+ 760 @) Key Fact’) 2
8.8¢ To add the units of capacity,

always add the same units, litres
in litres and millilitres in millilitres. |

{coonvert it into millilitres.
170m¢ = 8800m¢

= )
Afish jar has 20¢ water and

other jar has 18¢ water.

. VTR A
How much more water IS in A
one jar than the other? Give

your answer in millilitres.
NI .5

t,; Tofind the difference between the capacity of both

k '+ 108rs, we will subtract the quantities.

g A
( hha:'i:glgmups of students. Put some flash cards of litre.and' mlllilnres in. |
- ._lfthem'fo pick some cards and add them. % s

¢
|

i

109
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pathenatc , 18¢ from 206

s subtrac

Le ,
ity of waterin @ Jar = 20¢
ity of water in anotherjar = -18¢
mee petween the capacity of jar=__ 2¢ §
Difference litress frq q::ra g
gifference between the capacity of Millilitres fr, H?S.
The di —
iars is 24. . t&a
s capacity of water in mé we _;_Try YOUTSelf 1
To find the Ajuice pack h \§
multiply 2¢ bY 1000. anotherju?ce sas iSO g,
= CKh
2¢ =2 x 1000m¢ :zt000m£ What s the differeng,
: ore water. : :
on s 2000 (e capecity orbon

1. Solve the following:

(a)3£109m¢ + 5¢ 304m¢  (b) 6.50 +4.2¢ (c)122043;
(d)34£200m¢ + 924 (e) 41£ 200m¢ + 404¢ 478m¢

2. Solve the following: .
(a)22¢ 500m¢ - 10£ 109m¢  (b) 55¢ — 32¢ (c)2.2m(-t3

(d)4¢878me -3¢ 760m¢  (e) 78£ 209m¢£ — 16£ 142m!

3. Zara has two containers. The capacity of one container isGTHEE*I
and the other is 84/ 300m¢. |

(a) What is the total capacity of the containers? .
(b) What is the difference between the capacity of both conté®

4 A shopkesper sells 72.8¢ milk on Saturday and 92.6¢mike"

Sunday. On which day does he sell less milk and how e
your answer in millilitres.

T R — B
the bamt? Elkps of students. Put some flash cards of llré and

wme cards and subtract.
F O

4

Scanned with CamScanner



units to measure the length of
. Maﬂ"‘ trIs.mauer metric units (2-digit ng S;”; Nt objects,

) lh One
Il ﬂ"" metres W
'Pt‘rﬂs Ont etres ———
020 imetres * Length
|11atres'“neasures of length insame | * Kilometre
lrldgubtfa * Metre
4 metnGU"'ts to measure the mass | * Centimetre
' ﬁnd?objects |+ Millimetre
il Cinto o smaller metric units (2-digit | + Mass
! mlﬂﬁ; qe decimal place) + Kilogram
f g,lnlogfﬁ";‘nss + Gram
| In o milligra * Capacity
P::j Jbtract measures of mass in same . Litre
drdmetnc units to measure the + Millitre

4 of different containers.

g st larger into smaller metric units (2-digit numbers with one

L place) litres into millilitres.

i subtract measure of capacity in same units.

il life situations involving conversion, addition and subtraction

nl¥rsures of length, mass and capacity.

nt

1Iln? be comect option.

~m1rea;e________ metre in one kilometre.

By, W10 (i) 100 (iv) 1000
J It are"-—-——-_.__ grams in one kilogram. |

i fhy,,, (10 (il) 100 (iv) 1000
; g "eMinto mpm, multiply it by 3
(ii) 100 (iii) 10 (iv) 1000

3 ,- . Not For Sa|.3 - PESRP
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et
e
‘\

T | to , Y
metre 18 equa — Centimggr,. Mt |
(iiy 10 i1y
s equal to 1000 = (ivhUr
(ii) metres (i) millilitreg ’

i i

2. conveit the given units.

(a) 105 km into ™ (b) 3.4 minto cm

()65,
(e)05gintomg (g Vi
(20,

h

(d)60 9 498 mg into Mg
(h) 90 cm into mm y

(9) 9.8¢into m{

3. Solve the given units.
(a) 5kg 2099 *+ 9Kg (b)4.5m +2.8m () 78kg 700g 4
|

(d) 212¢ 200m¢ +92¢ 500m¢ (€) 1192 329my 4
(f) 65g313mg * 98g 198mg &

4. Solve the given units.
(a) 506kg - 417kg (b) 85m 405¢m - fy
(c) 84kg 711g — 75kg 6809 (d) 782 805m¢ -y
(e) 98¢ 788m¢ — 45¢ 659m¢

5. The heig.ht of K-2 is 8 km 611m and Mount Everest is 8kmé

(a) .What is the difference between their heights? Give yourés
In metres. |

(b) Find the total height of the mountains?

6. On Eid, Asi
, Asim buys a goat and a camel to sacrifice. The e

(;5)5:;9 and the came| weighs 200kg.
0 c|2: the total mass of both animals.
vert the total mass into grams

7. The capaci
What ispth:tty to fa bucket is 87¢ and a tub is 112/ 456!
otal cgpacity in millilitres?




o

- 3

- . ”
f"'l/t;,’; section, you will be able to:
. ;mputlﬂg 410 ysing digital and analog Clocks on 12-hour and 24- hour

it the
: J”nd tos and minutes into seconds
p"‘L hours into ths. months into days, and weeks into days
a4 ﬂ year.': ""‘:M,,mos of time withoul carrying and borrowing

1 CONVOrsion, addition and subtracion of
Lf;‘d W , Wﬂoﬂﬁ inVO'V“‘Q

iy
1 o

y,Hona"Y

e to sleep. It can sleep 20 hours fa
bu‘“““’ﬂlﬁsitsleep in a day?
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the science
Hours hand is on 10

for

&

! ]

gy
t's time

R Y
expe ‘r':l“n

T of the clock is seconds hand. Whep
The third 22 hand moves from oneé small mark to
<mall mark, then 1 second passes. Now, \

0 and 30 sec. This time can be

/‘:_.- “ ' _— ; Tt 1
nd explain what is meart /=]

L R
———
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To see the time we alsq oo  Unitsim
clock except an analog clock

you tell the name of thigo Can

(Yes! it is known as digita
clock. Digital clock js also
used to read the time. |t

shows time in the digits
@rm. '

({1 and 45 S€C-
‘ g4 hourS in a day, To show the time on the clocks. There arg
' a5 .

|12 houl$ clock: .

" ,am.foread the time after 12 midnight to before 12 noon
pm. 10 read the time after 12 noon to before 12 midnight'
4|1 24 hours clock: :
uns from midnight to midnight and is divided into 24 hours.
Lisshown in 4 or 6 digits.

{ock midnight is expressed as 00:00 hours and 12 O'clock
misexpressed as 12:00 hours.

wdhe time given on this clock.

iy Yourssit—.

Can you tell what time is it?

) = — T
ey, e —— na— T

0wt about ther daily rotine by comecty usingthe

——

P A

Not For Sale - PESRP
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We can see that in 12 hours format, we write 11 p.m. as 11
hours format 11 p.m. is written as 23:00.

Let us observe the time which is given in the following clocks
three clocks are showing the same time. j

!

Formatto write time in 12-hours  Format to wite time 2“f

i A—s‘k—ihé -”-—_h."_f"" N — i - nﬂd
i " the students to write abg {ailv routine by using @
P s 12 hou[s?fld 24hOUI'S y C|O :ko:‘i]:ntgeir dally routine y i

————

——
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 Unlit 6: Timo

Time in 12 hour

i \
h Al ééilvlﬂes ‘ (e S RS
- [s0am | | sonm |
6:00 a.m. 6:00 p.m.
spfor h° schoo
g ‘

' 45 a.m. 7:45 p;m.
o the schoo E
: 12:30 p.m.
| \ 12:30 a.m.
- in the SChOO
I,anh time '

i ti i l . = . I
. l h 8.00 alm.

3 %sting time at night 10:25 a.m.»
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3. Look at the following clocks and tell the time in hours, minutesé

seconds:

Net For Sale - PESRP
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are 60 minutes in an hour, therefore
hours into minutes, we will multiply

"

8h=28x60
= 480min
8 hours.

ly
e 480 Minutes in

Scanned with CamScanner



S e

i _3h+32mm

- 180 min + 32 min

=212 min
nutes to Seconds

co nversuon of Mi
- f§aad solved the dMSlon question in 6 i, In

seconds, we multiply minutes by 60,

gmin = 6 x 60
= 360 sec

the questions in 360 sec.

To convert minutes into

So, Saad solved

(To convert 12 min 12 sec into
& seconds first we convert 12
=== | minutes into seconds and then

1hour 60 m|n : e
Seesemesm— | WE will add 12 sec in it.

P T~

12 min 12 sec= 12 min + 12 s&

IHovzr:nm = 12 x 60 sec+128°
are there in  one day? = 720 sec t+ 128
= 732sec P

Wite the fime In heis
@ convert e tlma in hours on the writing board and ask the sludenl:tgj

these hours into minutes. G rds of min
them to convert them into 3900::\:12 some flash ca i




Aing time into minutes:

‘{me!ollo(b) 201h ©14h12min (4
h26min  (3)11h 48m; 150 Sk
» (f) 22 | min (h) 221 15min
# paenémin (k) 27h 38min () 42h 26mi
;Wn g time into seconds:

8{0“ \ng
Al (b b) 43min (€) 1min 13sec (d) 8min 325ec
f“‘ngsec (f) 63min 58sec  (9) 88min 59se (h) 65min 37sec
i s 0)100mm Msec (k) 176min 18sec (1) 430min 03sec
\m e N

e
.--’

kcom,p,rslon of Years Months and Days

arslon of Years to Months

(The planet Jupiter |
% completes one

I rotation around

the Sun in about

12 years. In how

; many months

does it complete

@ rotation?

“12 months in a year, therefore, to convert 12 years into
el Multiply number of years by 12.

12 years = 12 x 12
= 144 months
rotation around the sun in 144 months.

121

\ e

e Cmpletes one

e ot For Sale - PESRP
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e
Mt e 44 months Into months.

“ e i)
X,

o v LS
. - ' o)
-

s ¢ L o UL

. - + ——
- i r,-'

To convert 4 years 11 months into mq

nt
convert 4 years into months and the, hs

adg 11 Yy

4 years 11 months = 4 years + 11 MONths M, b
=4x12months+11m -
=48 months + 11 Mo
= 59 months

Onth
Nthg

conversion of Mon

T A =
\ 4 - 4
re C ol
- At
- =8 x Lt
B i o oy et N e
g
x 1 3
\
g o

To convert months into days, we multiply the number of momh;bT
2 months =2 x 30 days i

= 60 days
There are 60 days in'2 months.

To convert 5 months 44 days into
- days, first we convert 5 months into
days and then add 44 days in it.

o months 44 days = 5 months + 44 days
=3 x 30 days + 44 days
=150 days + 44 days

the students in which years are Wrte"

i

Not For Sale - pEgRP
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: of weaoks t0 Days
’f;h"i"l"i‘ can live about
10 weeks without food.
/| How many days are
there in 10 vieeks?

bi=d L0 8
ina week. Therefore, to

’;L(s nto days: we multiply
: Jweeks by 7
10 weeks = 10 x 7 days
=70 days
mere are 70 days in 10 weeks, . onth = 30 déy?
g N0 02 2 n{blhjt"h{

sweeks 20 days = 8 weeks + 20 days
=8x7days+20days | Tt :‘l'

= 56 days + 20 days How many weeks
are there in 4 years?

=76 days How many days are
there in 12 years?

| i’fﬂme following into months:

| oi (b) 4 years

mmms (e) 8 years 3 months

¢ months (h) 17 years 10 months
Tmonths (k) 15 years 11 months

(c) 12 years

(f) 5 years 4 months
(1) 30 years 11 months
1) 43 years 7 months




2 conve s (b) 8 weeks (c) 5 Veg,
(a) 11 week (e) 9 weeks 6 days ()7 w%k@
(d) 05 WeeKs . (h) 4 weeks 3 days (i) 32 e, 1&:1
(9)2 weekss - (k) 41 months 12 days ) 54 °ﬂth{

',

()27 mon"

._—-

-"’Addltlon and Subt’aCtlon of Measures of
| ._q——-—-"'__""-'_ =
SBE , ’ During an lnformation tour h\
e students spent 3 hours 15 Min
Army museum and 2 hoyrs 22
in Science museum. Hoy Much. 7‘
did they spend at both placeg) )

oy

To find the total time, they!

spend at both places, we
add the time and convert
kinto minutes.

/

Time spent in Army museum = 3h  15min
Time spent in Science museum = + 24 22min
Total time = 5h  37min

They spent 5 hours 37 minutes. Now, we will convert this time i
minutes,

© h37 min =5h+ 37min

= 5 x 60 min + 37m"
=300 min + 37mn
= 337 min
oth places.

S0, the students Spent 337 minutes ath

Not For Sale - pESRP



a0 "-!!-'- TR T R 6B b
i

o 18 qunched two projects SMUltango, Ut
dﬂﬂ’e onths and second project 1 e 28y First Projec

; egrS-T oW much less time does secong "y eo ths to

) i YO answer in months ject taket

mt how less tim?

! 0
,ﬁ the second project is
wmpleled in? We subtract

| | (i / the time duration and
" | convert it into months.

— J
# Years  Months
puration of first project = 3 :
puration of second project = -1 5
| piffierence of time between = 2 5

two projects

«ond project takes 2 years 5 months less time than the first

'.etlhis duration into months.

2 years 5 months = 2 years + 5 months

= 2 x 12 months + 5 months

— 24 months +5 months

= 29 months

Lé ject.
g Project takes 29 months less than the first projé
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1. Solve the foll?wlngiec . 11 h 18 min 32 sec

¢ +2h 21 min 11 sec
()24 min 45 sec * 43 h 20 min 10 sec

i 15 min 31 s€C + 4 h 4 min 25 sec

(d)5h s 7 months 2 days and 7 years 4 months 2 days
o y:; min 8 sec + 37 h 11 min 09 sec

b 5419h ears 2 months 5 days + 40 years 5 months 11 days
Eﬁ; 27 :;ears 3 months 5 days + 32 years 6 months 4 days

the following: '

- (Sac;lﬁ 1 45 min 49 sec — 10 h 23 min 38 sec

(b) 57 h 22 min 27 sec — 33 h 11 min 12 sec

(c) 65 h 28 min 56 sec - 54 h 20.m|n 45 sec

(d) 6 h 26 min 42 sec - 5h 15 min 31 sec

(e) 25 years 8 months 3 days — 23‘years 6 months 1 day

(f) 62 h 53 min 29 sec - 51 h 42 min 08 sec

() 88 years 11 months 29 days — 46 years 10 months 15 days

(h) 37 years 6 months 29 days — 17 years 6 months 18 days

(@) 34D ) rin 37 se

3. Ahmad went to his grand mother's home on Sunday and he stz
there for 2 hours and 20 minutes. On Monday, he went to his &%
home and he spent 4 hours and 23 minutes. Find:

(a) How much time did he spend at his relative's home?
(b) Write the time in minutes.

* Elaz travelled 6 hours 34 minutes 45 seconds in a bus and 4
(25? l:lnutes 12 seconds in a train, Find:
) How much more time did he travel in the bus than the "
travel altogether?

(b) How much did he

Scanned with CamScanner



: ,-ﬁe using dlgltal
n 12-hour and

inutes and Vocabulary =
ds. * Months Time
! infosent months, months ~ |* Weeks Hours
Yﬂarsweeks into days. ’ CO”_V?rSIOns * Minuteg
a0 ot measures of time Addition Seconds
uhtf:g ond borrowing. Subtraction . Days
r|n"re'al life situations * Years

co qversion, addition and
djon of measures of time.

eVIGWExerclse‘%!

j(/)the correct option.

ereis 13: 50 in 24 hour clock, what time will be in 12-hour

ock?

lam. (i) 3:50 p.m. (i) 1:50 p.m.  (iv) 12:50 p.m.

feeis 3: 55 in 12 hour clock, what time will be in 24-hour clock?
2;:;’5” (i) 14:55 (ii) 15:55  (v) 16:55

"Jiyea:e IS F'he longest from the following?

g, (i) 12 months (i) 1 year 3 months  (iv) 350 days
o T months in 2 years 6 months.

i i) 28 (ii) 26 (iv) 30

Ty Myears | Into months, we multiply the given years by __.

i (lll) 11 (IV) 12
S S
‘ - Not For Sale - PESRP
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e

" -”-I.-u;"t-h;#correct time boxes Dy using the 12-hoy fo Ny
9. C0I0 R :
Daily activities Time jp
———t
r Salah 5:00 a.m. '\

Q Time of Faja

\
Q School's assembly time @
_____—__'ﬁ—--
12:20 a.m.
_._—_——__—_-k_
—-____'_—"—-—-._.
6:00 a.m
9:25a.m

oak time in school
Q Break tim 12;2%tl
Q Time to watch TV in the evening S:OOD.I:
Q Dinner time 912594

3. Convert the following into minutes:
(a)8h (b)112h (c)15h 13min  (d)7h 15
(€)28h 39min  (f)33h 25min  (g)11h 13min (h) 23h 15
(i) 6h 54min

4. Convert the following into secoﬁds: |
(@) 78min (b)33min (c)4min 17sec  (d)9min e
(€)2min 53sec () 21min 11sec (g)97min 47sec ()46
(1) 433min 44sec

5. Convert the following into months:

(a) 5 years (b) 3 years (c) 22 years

(n
((d) 22 years () 9 years 4 months () 19 yeaﬁ;
9) 29 years 8 months (h) 19 years 11 months (i) 54 yeer

\‘m__—/

1

— =

4
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Ly into days:
L0l (b) 9 weeks

(C) 6 WeEkS

(e) 11 weeks 2 days (f 9 weeks 5 g
ays

§
‘ﬂeek5 s S (h) 56 weeks 4 days (i)

A

] [re{ollo‘;"g;%c +32h 34min 16sec
I

138560 + 32h 34min OBsec
ec c+3h 13min 14sec

43 Weeks 3 days

zsm

. min 35

1l

#0760 22min 26
in 3858 ~ 00h 22min 26sec
s

46 sgsec — 44h 43min 37sec
Eh54m|[‘| 49seC — —21h 32min 00sec

ends 5 hours 23 minutes studying.and 1 hour 20 minutes

¢ . -
wmuch ime does he spend in both activities?

e the total time in minutes.

Jitakes 2 hours 43 minutes 54 second to make a savoury dish
“hour 12 minutes 24 seconds to make a dessert. Find how
more time does he take to make the savoury dish.

dYarsl)ef"ds 7 years 4 months 2 days in Suadi Arabia and

.m:? months 7 days in UAE.
ueh time does he spend out of the country?

“thg total time jn days.

“om ears 10 months
| :sand Pletes her medical education in 4 Y (ime did she

i, *rhouse job in 2 years 2 days. HoW mueh

dlcal educatlon and holis_le_J-o—b:?_/—'—_——_—

129
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Geometry

o —

£ Leamllﬁg Outcomes

After completing this unit, you wij be abe to-

- Recognize and identify parallel and NON-paralle| jingg
« Recognize an angle formed by intersection of two rays.
» Measure angles in degree (°) by using protractor.
« Draw an angle of given measurement and y
. « Differentiate acute, obtuse and right angles,
-+ Measure angles using protractor where
» Upper scale of protractor reads the Measure of ang|e 1
« Lower scale of protractor reads the measure of angle f
« Identify right angles in 2-D shapes
» Describe radius, diameter and circumference of 5 circle.
(Find perimeter of a 2-D figures on a Square grid.
* Recognize that perimeter is measured in units of length,
lrﬁmﬁa of ZD figures on a square grid,
Retii"ﬁnizg that area of a square is measured in metre square (m’) ang
- centimetre square (cm’)
* Recognize lines of symmetry in two-dimensional (2-D) shapes. _
* Complete a symmetrical figure with respect to a given line of symmetyons
grid/dot pattern. >y _ ;Ll
» Compare and sort\S_-D objects '(E:'ﬂbes. t:uboids,%pyramids, cylinder, cone, st

.'r |

Se the symbogy (<)
od !0 rEpr .
Vg Bty

rom |efl o h‘k
O fight to 5

——
S
date b
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.
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iW‘*’" pesss—
Parallel and Non'parallel lln' Ui

Parallel Lmes w
Look at the following figures.

The lines which never meet each other and the distance betweenss
always remain same are called parallel lines.
Railway tracks and signs marked on the road are examples of pai
lines.

Look at the two lines given below:

‘('3 ‘ EIJ’
<} >
A B

g
AB and CD are parallel lines which keep going straight on both |
and never meet each other. We can show them by US'”Q @ sym

AB il 'c_;b"j

Itis read as: AB is parallel to CD.

\‘_ — e __i I_‘. .:
Not For Sale - PESRP b_.1 32 PR




ines*

Let's take @ look on these "EIUreg;

et al pOint 0.
nes which intersect each other at

C

Non-parallel lines are those lines
which intersect each other at any
point if they are extended.

Try it %

Look at the things around U
you distinguish between pa

non-parallel lines?

s. Can
rallel and

___—._-__-——-""

. G T —— "___ ) | tha
~ency :'.'?é@_‘ll_‘_gl and non-parallel lines on the board and explain

ji_t-hem- | /
m’
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M"f" - u,-.fu,-:
Exercise1 at1E

parallel lines from the given line

4') ™
an p
'J‘,ﬂ:,

on-
1 identify parallel and n
.their names @S well. B

g Y \ ()
| >

B | )
7 B i: ﬁ‘_\ngle i J
(Let's look at the figures )
on the left. Here line AB
and CD intersect each
other at point O. ¥

s A6 When two non-parallel lines intersect eaﬂh‘ﬂ";
—/ff < ata point, different angles are formed at he |
Common point, "”/’j

LR mﬂon-para"m lines on the board and explain about ang**

e ST S .

=




o0 ctures given above are

g|eS
oal callel lines OA and OB

g each other at point O, |Look at the clock-and find

AOB. What angles are
£ making? i > Nands

)
MT, oA initial ray and OB terminal ray.

pomt

0 is called vertex of the angle We can write this

A.,.._.-,-._...

Fozia has a geometry box. There is a
protractor in‘it. By usmg it, we can draw and

measure an angle
\\\\\“\“““"““"I”"l"ﬂ[mg,,
\\\ ’ g

..1




he straight line at the bottom of the protractor

Baseline: T 1S Caley
baseline. L

Centre point: The middle of baseline is called centre point of the
protractor.

Scale: There are two scales in every protractor, an inner scae gy
outer scale.
Inner scale: It starts from 0° and is up to 180°. The measureme;
zngle is taken from right to left on this scale.
Outer scale: It also starts from 0° and is up to 180°. The measuy
of an angle is taken from left to right on this scale.

Measurement of an Angle:

ZAOB is an angle. We
measure it by using a
profractor.

@ Show protractor to the students and tell them about its pars

- TR gy md

Vi
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Unit g: Q.Omwy

of an gle ZAOB.

rotractor on the vertex g
A,

ep
rolractor exactly on the ray Q

nt
gle on the inner side.

A,nﬂ |n9 (he an
ero

|||||r|[|mpmm,/
Iy

H \\\\\1\\\\\\\1
f \\\\, --90- /f'f/
S,
(= /Ty Yourself F
e meaSUreS 50° on the Measure the angles given
i C below by using a protractor
# e cnel
.| LAOB= _
fdg 1S.L,,. v
i \_ ~ /
ion of Angles:
0
Draw an angle ABC of 180° by using

protractor.




the protractor on point

¢
ot of the protractor

gy,
\\l\“’ -‘—~_ on -1 l‘////’,/’?/

‘ *.1“&‘”" g
-

Look at the outer scale on the protractor and m

ark point A
on thea_l
180°. |
(o
T B =
Remove the protractor and join point B to point A.
MZABCEHB0R

—— ey

"&. AF ; - ' - o e ‘."‘“"’“ '.
nce between Acute, ObthD,]

2
LR L T
- <
= i'if. f

As you know the unit of measurement of an angle is degree Thg

;c::z:v: gray AB completes 360° in one revolution around i nid
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e e e u"“ f Os
ho anples formod In the followln-“~ 0; Oaomeyyy
antg, J

-

Qt EI' hay Ar0 of different mensurem

PRSI S S S —

G . - A A— \
7~ ofmeasure 90° 8 ) |

nind®2 o ngle. Angle AOB

::::;guga Isa rlg ht al'lgle.
[F0B=%0° 2 B
— - -
All the angles which measure \
E ‘less than 90° (right angle) are

' called acute angles. £ EFG in
the given figure is an acute
& ~ angle.
F b5 >
G

LEFG=45°

e e, et e .

h._!!qurseﬁ‘;‘*‘z; ~
Which of the fdlljd\;ving angles is an acute angle?

A | | 1 1 F 1

" 1 1

10 j_ 2 10 ! )
L ; -.“ e




' All the angles Whtch
- greater than 90° (g

}’ 180°) are called obtu

£ f angles. ZR in the giye,
‘ is an obtuse angle.

Measure the angles and write their types.

=

_—

7

— =
@ Give Btudants ﬁaah cards of different angles and ask them 10

— =

them as ﬂuhl. aoute @ and obtuse angle‘s_/
A
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frame. Do you know what
angles are formed at each
 corner of the frame?

(Dania has a square picturg ) @

All sides of a square figure are
equal in length and all angles
are right angles.

Hina has a rectangular colour |
box. What angles are there in

a rectangle?

Telengths of opposite sides in a rectangle are )
. Like a square, all the angles of a rectangle

jI

J
A B
i e 2
90° 90°
C D |

——

angles

dents to draw 4 équéfe and a rectangle, measure all the
%q"r‘and-tell‘which of them are right angles.

1 R e ]

Scanned with CamScanner
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I
‘ I

1. Write fhe type of angles in the following;
(b

) (c)
a
(a) X ;
E
K. E\Q\_‘
B C J Ho >k
_-_---__—-——.
2. Measure the following angles.
Z. I
p
B ¢c F @

3. Construct the angles of the given measurements.

(a) 60° (b) 30° (c) 115°

J K N ¥

(d) 9p°

4. Measure the angles in the follo
as well:

wing figures and write their names

Scanned with CamScanner



<has a cycle
8 has two wheels.
AL is the shape of

wheels is like @ '
circle )

tqures are of circular shape. The figures which have no edge
:called circular figures. Each circle has a centre point.

=l [Thereis a pointin the centre of g |

~ [circle from which the distance of all
] the points of the circle is same. This
point is called the centre point of a
. circle.
0

Point “O” is the centre point of the
circle given on the left. A circle is
identified by the name of its centre.
\_V\f_can call this circle “O".

| Atrga o : <
_ amr:'telsaset of points in which all the points @
'-ﬁ-‘.‘f‘:i?“fqaal distance from its centre. ?é

e

o~ - LR e T " .
TR e bt T T ¥ - 3
o R, ! - i Pt e A
F 14 e - N e ol gt AL, o RO wtithe ¥
= Rl N s ..
a - - bt - L
3 R Ty

“Not For Sale - PESRP
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 ciics 4 | IG." A
!_‘W‘I reie: ' ' \
. of a ¢ ¢ which joins any point on the circlg (g C
ggmen Usually, the radius of a gjrg, s r:mrc.h
Pr

The "nl.eazius of the GifCle.

OA is the radius of the circle. We . H"
ny‘.ﬁ
{

There can be more than oné radius in a circle. Here all line sege;

0B, OC, 0D, OE, OF, and OG are the radii of the circle.
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—
P —

Uﬂ" 6. ammw

revolution

Distance covered in one

fa circle

__,_9,..—-—-""'"

Glrcumference
N

Let's look at this circle.

il on the board and (ol students 80Ut S0
3 ‘-’;‘,jjt aw 8 circle in the note ooks and writ

ena

{ each part ofd
e th mes of




) O

ﬁlieaiﬁs of acircle Centre .
2. Write the name of parts of the circles W‘i
, . : C
@ p (b) “ ©)
)
A
Q J
S
Centre: Centre: m
- lameter: Diameter )
Diameter: Diameter: R'a:eter,\]
ius: Radius: Sl |
Radius: g )
L Perimeter and Area
Perimeter:

rzahid's roomi is
rectangular. What is
meant by its
perimeter?




1 of the bounda —__Unite: g
’{‘?fﬂ";"angm : can find th Y ofa room jg -
' ~1'0,, gter- We e P€rimeter of

'Eﬁ%e-hem of a square grid.

d rDOl’n

—T1]2|3|4]5
| = T
g [Tl
2 2
[ —
3| 3
—11]2(3|4|5]
= —
el I
i melen we shall add the lengths of all the sides. As the
.fﬂP1 netre [ongs SO we add the lengths of all the sides o fing

N

wlel =
2 o rectangular 100M =5 M +3m +5m+3m = 15
A% oterof given figure.
g paimeler T GNONTIGHE:
{1 3 To find the perimeter of a square, we
,.L 1] 2 shall add its all sides.
L ] | | Perimeter of a square =3 ¢cm + 3 ¢cm
"‘,‘ 2 +3cm+3cm=12cm
'y 3
BDRE ;@m Yourself —————
Find the perimeter.
[ % \: _
uhoithe -
B ofadosed
e perimeter of




Fawaz's room is of sQuare
shape. How many tiles of
1 square metre are

required for flooring?
I

To find the number of tiles we have to find areg = thgr _
0

figure below, the area of the room is shown op, 5 SQUareon?r"SL
Qrig
ziH} |
The number of square boxes in this _‘“L—?‘*iiz? 7 -
square grid represents the area of ::*““‘*HH: ;[ 3
the room. HEEEet
Number of squares = 49 O l '
Therefore area of the room = 49m’ L ‘
So, 49 tiles of 1m? are required. = *_::: “ |
Find the area of square figure. 11 {4 [ |
112|345 64‘—‘_’#”_‘1mz
BEE
~I\J\ ] |

Number of Square boxes = 42
Therefore, area of the figure = 42 m?

R T ey r- i -
. 4 _-- . Pl lr .. . L . . = — =
& g - ol - " ”, > b =l oL A
< . o “ ‘148 ;":3"-, N
- 4 5508
e y

2
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Me given figures.

4!
| T .aed ™ T N
gIEEE

2 50818 G (e o e ctudents and ask them to draw squares
e 91 paper to the S o find thefr perimeter and &1¢%:

Scanned with CamScanner
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ol ey BRI TR SRR SO )
o] g T il
l".m.u“‘ | IRy
- 'f.AI
Symmetry: Unigg,
Ahmad's teacher drew a
star on his notebook for
doing good work.

—

I we draw a line AB as shown in the ﬁgu_r;_h @;‘Séé -y
that the star looks the same on both sides. The jine
AB is called line of symmetry.

Let's look at these figures.

.L..___.,,_.I__ ot

-— i
“—

The line of symmetry divides all these figures into two equal pars

) Symmetry..means when we turn,
lip, or rotate a figure, it takes
EXactly the same shape as before:)
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v - gl |

155 vz : Umt 6: GeoMQtry
There can be more than
one lines of symmetry
Eor difference figures.

| - ﬁgﬁres with the help of line of symmetry.
~gollow!

foll
ﬂ/gg"e";‘mﬂ HEEEEEREEE

|
= HEEERRERN
it g AEEEEE R
?E;:::: IR \ | all
T T
- e
T \
=

\‘\ —
e W 5 i

m—

dentify

oo o eeeesRomiand



I T s \r

- s mmetncal figures on :
gte the followmg y dot %ﬂN

Let's."’omf.-
B S el ask
nt dotte féa;ds ofha]f.ﬁgures to the students aﬂd ; 'i
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[Exercise 5 @ “- .y
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Mathoratics 4 B T —— e
~ Comparison of 3.p g, |

R Shapgg, M

Faraz's father gave a gjft o
birthday. Can you tell the S
of the gift box?

N his
hape

This is a cube. All the surfaces of a cube grg of square i
cube, length, width and height are same. d shape_|na

o 8 vertices <>

; |
® 6 surfaces | [
©12edges 00 [aeee g —
Cuboid;

This is a cuboid. All the surfaces of a cuboid

» 8 vertices

are of rectangular g,

® 6 surfaces

® 12 edges
-

* 2-Dfigure have only, length and width.
* 3D shapes have length, width, and heigh

(&_All3-D shapes are made by combining 2-D fid"
Ay Bty = 154 ;.M-:‘l———:_:_—‘—-_-f =
;
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4 o - Al 1Y sl
_ B AR gl
= iy ,,:_—...,____._-,]:';:

/ W*M

, I1has 3 curved surface, It e,

ﬁ’f’ tﬁa/t: eortin

-
S 5')’:

————

it Jor, It has three surfaces, one curved and the

acilin
?acficlrcular).
: Fmperﬂeﬁ: S ey
e (” - «—Plane surface
‘ |  <—Edge
Ly

+ 3 surfaces oy 0 - Curved surface

| ge —
| 2 edges < Plane surface

5
sacone. It has two surfaces, one curved and the other

(drcular).

+ 1 vertex <~ Vertex
i Curved surface
\.H\edge Curved edge™ Plane S‘_"'fa‘l;efJ
! %nz?h cards of different ﬁguréé to g?o sﬁgtzhge??géﬁgggsm wte{}I s;:;‘t:l of

gures fi
* Oompare rom them, Ask the studen

\l their properties.

ot For Sale - PESRP
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1. Write the na

(c)

()

S
Name:

—

Vertices:

Edges:

Faces:

Name:

Vertices:

Edges:

Faces:

Name:

(b)

(d)

i

1
4

Scanned with CamScanner
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i Uﬂﬁiws
i 35urfacas

n Properting
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"Mathematics 4 '
Uniy

I have learnt to: §£3

. recognize and identify parallel and

non-parallel lines.
nize an angle formed by intersection

o recog
of two rays.

. measure angles in degree (°) by using
protractor.

. draw an angle of given measurementand | « Opy, :ngfe
use the symbol (£) to represent it. | Smmaar‘ng,E

. differentiate acute, obtuse and right + 3-Dshq p; 3
angles. * 2:D shape

. measure angles using protractor. * Sphere

. Identify right angles in 2-D shapes. * Cube

. describe radius, diameter and * Cylinder
circumference of a circle. * Cuboid

« Cone

find perimeter of a 2-D figures on a square | . py g

grid.
recognize that perimeter is measured in units of length.

find area of 2-D figures on a square grid.
recognize that the area of a square is measured in metre squzz

(m®) and centimetre square (cm’).
recognize lines of symmetry in two-dimensional (2-D) shapes

complete a symmetrical figure with respect to a given line of

symmetry on square grid/dot pattern.
+ compare and sorting 3-D objects (cubes, cuboids, pyrame

cylinder, cone, sphere).

Scanned with CamScanner



X ‘.’.
'-"I

/‘i*‘“’ - | Q
?:‘Rwlow Exarclse 'SJ

he
)l which keep going straight and never meet each other

o |

r-,ontal lines (ii) vertical lines

j calle! lines (iv) parallel lines

o ; small parts in a protractor and each part
el 10 1.896E-

g (ii) 120 (iii) 180 (iv) 360

ifen horizontal and vertical lines intersect each other at a point,
pey form:

gtangles (ii) obtuse angles

zule angles (iv) horizontal angles

‘nangle less than is called acute angle.

iy (ii) 80° (iii) 100° (iv) 180°

Melength of boundary a circle is called of the
trele.

“onference (i) centre (i) diameter  (iv) radius

Mearea covered by a closed figure is the __ofthat
ure,

Wh (ii) side (iii) perimeter ~ (iv) area

il ;

j . “Ymmetry divides a figure into___—— equal parts

i :
(i) 4 (i) 3 (v) 2

A
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@

4. Draw the angles of the given measuremant
(a)135° (b)95° (c) 70° r

5. Label the circle.
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—— ﬁ—“‘m'“ Pia
r = et o

~ Unite: G'iom'.w‘
rea of the given figures,

. mﬂte 1
| "'f‘d (D) — (01)m$£n_l

LT -
. — R

- —
] ¥ ~— |
—t
»
3 e 1 i # .
ANt HS et P 7 '.""‘—1 i
C —A (£ Ak .
‘ \I b » + !
o B RS
e}
Il

| metry in the given figures and draw lines of symmetry
pasym !

(b) (c) (d)
e

+2{he given figures.

| ( b )

| —
“#"" 1400013050505 ,) e e e T :
0N
N -
N
U

Not For Sale - PESRP
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9. Encircle the figures which have the follow;
Wi

(a) 6 plane surfaces

(b) 1 vertex

ai_i FPas Cala - pl:RRp
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ou will be able to:
and vertical form.

nted in bar graphs. -

Uﬂuv y :
nin horizonlai
data prese

: uils'
s using

data presented in line graphs.

ta presented in a Pie Chart. ¥
‘ Y4

- ",s

vy in
g Tt

P Types of Vertebrates
Wi Sk | 5
."ﬁbralesg Ben above shows the types and number of
g g a1 he R P you wiite these PE2
& ng order of their number”? ' -

g s

-4




| Mathomatics 4

l Bar Graph |
Nida did a survey of three

sections of her class i Which
she asked about the bloog
groups of students, She has
prepared a bar graph baseq
on this information. How can
_We read this graph?

"\. at

rln the vertical
direction of thijs
graph, a small
square is
representing 5
students. If we
look at each bar
one after the other,
We can obtain the
following

information from it:J

No. of students

-—
&

AB+ A+ B "

Blood groyp |

* No students have O- blood group. iﬁzﬁigsi?::osﬂ;j;:;

* The students having O+ blood group |
are maximum in number.

* The students having A-

blood group  (The bar graph

are minimum in number, given aboveisa

* Total number of students with blood  |vertical bar %
groups A+ and AB+ is 40 graph. Similar,

* 20 students have blood group B+, a horizontal bar

* Nida collected information of 100 oranhical be] |
students. drawn aswel. )

Not For Sale - PESRP =
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> Unit 7:
0

gri*P zontal. That is why it is called
A 4 y 00 a horizontal
Y

;*,p,
8
f
7
6
" ]
@ 5
o
O 4
3
0 R
1
0o 2 4 6 8 10 12 14 X
: No. of ab
ub i thefollowlng of absent students
_rom thiS graph: Scale: A small square in horizontal
i " qumber of absent  direction is showing 2 students.
yasinclass 1-
gmum nUMDer of absent students was
uses 6 and 8.
{ference between absent students of
ad class 815 13. (14— 1=13) = whlch classes
it '
i s:rrn zf ?gsgnt students in classes 5 | gifference between the
tunber of ab number of absent
“Mama ?esint students in classes 6 |students S ihe least?

Hn"ﬂnauon of 46 students in total is

hthis bar graph. '
. R o 2 M-"" IR
.‘ : i NS e studentsand ask

iects, foods, hobbles of




PE————

|Mfathomatics 4

"

lhzqw"?'.."';""'-v“ﬁp_ ‘\: i
1Ex : S ;.F' ) h‘;y“lﬁ
wRerelse 1 R(E |

R R

1. The minimum time for
eighteen years s sho
the graph closely to

SUggesteq Sle

WN by usin
answer {fy 9 the

13-18
years

6-12
Years i

&

Children of different ages

(b) For whi . the
ich age group, the time duration of sleep is maxmis!

— __and how much?
c . -
(¢) The sleep duration for the children of age 13 to 18 yearsis_

h 2
) :U N < n the sleep duration for children of age 3hi¥

Or which age group the time duration for sleepis A
how much?

\ - _—
L el
Sale - PESRP S
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Unit 7, om Handiing

yrenl areas and
0|ﬂ f“”l ( ]“JV
[ ‘ “‘I( , ()1 l)r’lllr

pﬂop Thﬂ number of parlic| IPants tan

15 t
G Rond the graph and answay 1y, | the
paOP'e participaling in gamaes
i Scale: One verlical square = 1 peop|
E | - pe
’ o .« \ i “‘--——\--.. _%
l //_‘____,____._..——---_______,_______ _‘h'.l \_1
L1 I e B _—
, Gilgit Islamabad Khyber ,55}'1“‘;——- s
tan ja Sind
s gaoch Ballistan Pakhtunkhwa e X
pifferent areas and provinces of Pakistan
ma,gimum number of peopie are from and their
emmumum number of people are from and their
ity is
=mwhich cities 30 people participated? ,

rtich two provinces the people are of the same quantity?
Vetis the total number of people who participated in the games?

5 15 Llﬁé é}gpﬁ

No

'.'z'f‘ o LN )
AT ','-"'?,:'.,::{t
e L e f TR
‘:-:1 .‘ - I_'_
Hoan s o
Sl t For Sale - PESRP
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& - E - ‘lu- | ‘-. ‘
E‘“‘ iS isa line graph Itis drawn bYI ml,: \7-

pomts which represent the Values ofn,ng d'ﬂg, )

Total number of people come

Y.ff. masj]d to offer Salah N a wea ek
o 90-——_——-— —
:::é‘ 80-—-—-—“"'“
£ 707 n
e 60— T
2 501 [ =
ol T
o 30 = ==
5 201 S[=
2 10
2 Wednesd
e Monday |Wednesday Fﬂd\[\1 _
- &) S”r‘m

Tuesday Thursday Saturday
Days of Week

Scale: A small square in vertical direction is representing 10 people who i
g,

By reading this line graph, we can find out easily that hoy ma
came to offer Salah and on which day. ey
(a) 55 people came to offer Salah on Monday.

(b) On Tuesday, 70 people came while on Wednesday 60 Peopeg

to offer Salah.
(c) The least number of people came to offer Salah was on Sundz

were only 50.
(d) The maximum number of people, i.e. 80 came on Friday. 9
b

‘ a

ine graph represents data which changes vih %)

\ Tl e studrts how oead  inegrapni el f
Wmtheconcaptofscalearﬁteuﬁpmmreadmesabd‘! &

“f"—“——- — ¥ SR —

M'ﬁ"
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- i = 8 2
-1 T
,r-" ::;:—~ . -
! ’, — o e
- 5 =
gas |
¢ VA1 1
S g4 5
0 4 |
3 T i
¢ I i
g H |
2 || I !
2 L >
~ 0 “First SeCo Fourth Fifth X
week week week week week
Weeks
yare in vertical direction is representing 1 degree centigrade.

2 we can see that:

[;egraph- nd and third week, the temperature throughout the

" he $€C0
f;j; creased gradually. -
4, zcond and third week, the temperature remained the same,
e[;@gree centigrade. . |
~simum temperature was recorded in the first week, i.e. 6
centigrade. _ .
-simum temperature was recorded in the fifth week, I.e. 17
= enligrade.
“zneeks, the difference between the maximum and minimum
{.-F:-'&tures is 11 degree centigrade.
r O Trytt 7 v .
2the qiven i £ 250 +— —
eir;];ii\{en line graph and find 2 500 1— ;Z I I
L " O
2 150 {— :L
£ 100 -——-—-———-E”" B
2 50 "'—'_'-"-__L__'_—--—_J_
5 f FFSS

, ‘__;' E
: o o
TR
-1'-69;-.—
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1.Ina superstore, the number of C“St(’m‘ars-\;h'é
for a week, is shown in this line graph, R thcame for "
answer the given questions. © grapy, Car;ﬂp_’%

Ul
4

Total number of CUStomerg ;
-.__\J___k__-\]\ n d WEQk

—

—
S
=

800
600 N\ i
400 :-

200
Monday | Wednesda '
y ' | |
TUESdaY TthSda:nday ‘ SUHGGYKO

. Days Saturday X
(a) On what day did the maximum number of ¢ygt
many? Slomers com, ang
(b) Is the total number of customers comin
more or less than the number of custo
(c) On what day did the minimum number
many?
(d) How many customers came on Friday.

Total no. of customers

9 0n Monday ang Thur
Mers coming on Sunday)
of customers COme and py,

2. During a week of August, the maximum temperature (
Peshawar is shown in this line graph. Read it to answ

N

In centigragz
er the quesing

§ v+ Temperature in a week

@ | | |

S) ‘- 5

%‘ 38 ll ", 4
c 36 ! i l

g 34 \ / 1 .
T 32 -
2 \Vi | |
E Monday WednesdaY Friday rda s

s Tuesday Thursday e

Days
ey T N T £ ek :
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mu mmpul'«!lllln wis tho |”“]“mw U7 Daty H'"‘mﬂn
days had tho samo tompp,

alurg gy

) | | much?
! tho fowos! OMPOTAIIG and o gy diy?
:\Tﬂ‘l\v ho tomporaturo on Friday,
I wid B v
stV "
e pes of traffic that passed on the road near m
10US0 durlng ten minutes, the Information regardln;

ihis 18 glven below by using pie char

A pie charl is also called a
circla graph. It can be
divided into many sectors
and each sector represents
Snly one lype of thing.

Cars

puses (D

Motorcycles

Ple chart

Pio chart Is also used for to organize and )

represent the given information. In this chart, — @
we represent the obtained information by |

g!ng-t'h'e, sectors of a circle.

s

W chart, we can see that: ‘
é:g 10minutes, the most frequently passing vehicle is a car which Is
%m;’Y he blue sector,

l
% 15 the second most fre ing vehicle.
quently passing ve
iD;JYsIﬂlaw trucks passed, i.e. 6 and buses passed in the least number,

‘sha
"‘Wctl;vesly?nd Cycles passed in the numbers of 18 and 12,

l . f
Mg 9ot this chart we can find that during 10 minutes a total 0

Spa

1563
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.

- 7
R L v . ‘
thematl ity

[Ma chart, information of 1250 poople gy 0 .
:Q

o
s

lowing Pie S

In the fol ing a vacation is sh g 5

in different cOUTSes during own. N U,
U

er of admissions were . Nurg

taken mber of admissions were taker, < sl .

ast nu
(o) T . = 1250 - (500 + 200 + 400)
- 1250 - 1100
= 150

So. 150 people got admission in the baking

course. L
* (c) What fraction of people got admission in
graphic designing. . S :
Fraction of people getting admission in graphic designing = 40
. _ (a7 251.?50":.

1. The food components present in a boiled eqg are Sho;vn i
pie chart. Read the chart carefully to answer the given tuSﬁG;

(a) Wr'.nat is the quantity of fat in the The quantily of fyg
boiled egg? _ . components in bojlgg

(b) What component is present in the Sty
most amount? 06

(c) What is the total quantity of fat 6 Proteins— H*- 5F4
and proteins? Potassiu

(d) How much less is the quantity of
proteins than the quantity of

sodium?
(e) What is the component that is

present in the least amount in a bew-
. \:_:';}'".::' '
boiled egg? Sodium._

Tell ",'9_‘ Smdenwthemetho‘dof reading a_-ﬁi; chart with the help
PG -9?‘?'“9'95,*--'.53!'-"1ﬁ§ﬁf£§g@t§§;ggmmete pie chart represents (04
i sectors represent different parts of that "total.

»

......
J -
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S mrrted o) 5
nlaﬁl8 wa Ut o fing. What oa? "7 Dm |
Yl inage: Bl g o g |
N (Y, st? cay Ted b‘/
d the mo ad H( \Jf ,f|'|l?:1r1r: LY

fsheep and goats more /£
tal number of donkeys anq [
many more or less? 10
ffractlon what part is the
fo tothe total number of cattle?

hs given in
rf' bargrtigal form. A,
' situations using * Data . Vert
tlﬂ in bar graphs. . Bar.Graph Gerg;;‘;‘ Bar
aoh. . . * Horizontal + Ling Grg "
W [life o situations using Bar Graph « Ppje Char;t)
nted in line graphs. . 85

aP' chart
el life situations using data presented in a pie chart.

\f)the correct optlon

isimportant that in @ bar graph, the of each
ssame,

#gh (ii) colour (iii) width (iv) value
Sargraphs can be of types.

 (ii) three (iii) four (iv) five

-~L is also called a circle grapE
| - ii) Line grap

WL@" graph , %nz) Horizontal bar grap .
S is drawn by joining the dots rcapff=‘5‘~"“""‘g °
mzfna given value in the question.
L | ~ (i) Line graph :
\ 2 bar graph (v) Horizontal bar 2P

e



‘_:‘_ror"'*. # YA M h 7. D"‘_ d
R ' ehwish's ywa:

\ wish’s weight frgm bm,ll l i T T .welghl,_ |
= Mt;hyears is shown In el I ~ HER LN
ine following bar graph- 8 207111 ] e U
Read the graph t? % 20|~ ST E[ 1 N ‘\1
answer the questions. £ ot | ' SN 'l“‘rl N

= ot 1w R

Sc:aIe:OneS'!IUE"rein -5,12___ L ] l
vertical direction Is g i = B i | 1 L !
ing 4kg. H B R ) 1l
representing 4Xg O "First Second Third chlh"ﬁ,‘WLHL
year year year year vam S R

(a) What was Mehwish's weight
at the age of one year?

(b) In what years Mehwish's weight was same and h

(c) What was the age duration in whic
the most and how much?

(d) What was the age duration in which Mehwish's

the least and how much?

(e) How much did Mehwish'’s weight increase in totg|

1 year to 7 years? |

3. Ahad has planted different flowers in
his garden. Theirnumber and type is
shown in this bar graph. Read the
graph to answer the questions.

(a) How many roses are there in Ahad's
garden?

(b) How much less are the tulips than
the Gul-e-qasidi?

(c) Which flowers are present in the
most number in Ahad's garden and
hov'v many are they?

(d) Write in fraction form the number of

Mulips as compareq t
0 the tot
numberofalltheﬂowers. e

(e) Which flowers are Present in the
number and hoyw many are

Yoo ! S0a

Age in Years

OW Muchy

h Mehwish's WEight ing,

Sight INCrez,

from the, g

Chrysanthemum

Daffodil i} | 1
| N
Gul-e-qasidi -

s

|11

Spring flower H ,;.
0 2 4688

Number offof

Scale; One square"*™

\.x d,il'ecl'lon |S represenilﬂg
Not For Salg - PE‘SRP "“"7 4 d
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|| of cupcakes on the SPIING fogyyng D'"_' Handiing
raph of the cupcakes gq|g - A Of hig g¢

as

hD"J].

P

|ine i ¢ 2ach 10 " i _
ya' afternoon. Look at tha ar U from ¢
:_111d‘rf€; x the € graph 14 an_{}\:‘rerJ‘r};\QJ In
Al A
|.\\‘11ql Y-t CUDCH‘KQS
a cupcakes were
~ Y g hour? 20— |
N thi
Al ere the 0
r.}jln hourw d o 16
" 7 es sold an T
"0 cir number 812 e
PV phourswere 3 g
h“hich ver of cupcakes il o
Jﬂe SMh twas their .
aff 7 1 2_3 4 5 ¢
(;.ﬂ“bea'ny cakes Were SOld‘ lime in Hours
‘Hown%rst hour? | _ |
nine Flavours in ice-cream
f' Pistachio Vanilla
bers o
Pl asked 20 m(?m e Strawberry
iy about thell favourite |
s of ice-cream: Arham
e a pie chart based on y |
i the A\ / Kulfa
aswers given by all Shocolite Y.
-ymembers. o
%47
Mango
fumany people like vanilla ice-cream?
hichflavour is liked the most? any?
Michflavouris e number of people andhow ™ !
\llavouris liked by the sam e preffering pistachio
|/ much less are the number of peopin culfaice-cream?
1‘few':ream than the number of people Pfeﬁlerﬁh?le people preffering
e are 20 family members in tota o this qumber @s 8

m\ate ice-cream are 4. How will you sh
on .

?




A —— M- #4417 08 1

sihematics 4.~ -
[ Mathem (Answers) .
Unit 1 Whole Nump, '-?“'\:'... ;

gxercise 1 +

1. t2) 70000 + 5000 + 400 + 30 + 2 (®)300qy ,

*(c) 10000 + 0000 + 900 +50 + 6 ()40, 0 * 5oy
+90+4 * 60 ’
(e) 800UD + 6000 + 500 + 90 (f) 00gq , O g, 5,

(g) 2000C + 2000 + 100 + 60 + 7
(i) 30000 + 6000 + 700+80+9
(k) 40000 + 1000 + 400 + 50 + 2

(h)S0gqg 3033* 2 21
(]] ?OQQO +80gg * 80g, "%
(l) 50000 . % + 30'0 +
2 (a) 21171 (b) 39235 (¢) 65343 g

(d
3.(a)tens 00  (b) ten thousands 20000 (c) thousang ) 567¢
() ten thousands 70000 (f) thousands 80gg (9) h“ndre: 4000 q

4. (a) seventy-four thousand, three hundred ang enty.; &
(b) forty-three thousand, seven hundred eleven e ’}‘f! '
(c) nineteen thousand, five hundred ang Sixty
(d) seventy-five thousand, four hundred ang thirty-foy,
() sixty-seven thousand, four hundreq and fifty-nine r
(f) twenty-five thousand, three hundred and two
(9) thirty-six thousand, seven hundred and twenty-on,
(h) seventy-eight thousand, sixty-five :
(1) sixty-two thousand, eight hundred ang ninety-seye
(i) thirty-seven thousand, two hundred ang sixty-four '
(k) fourty-five thousand, one hundred ang twenty-nine
(1) forty-three thousand, two hundred and seventy-five

5. (2)25600 (b) 78402 (c) 41061 (d) 98301
(f) 12555 () 96005 (h) 44444 (i) 88320
Exercise 2

1. (a) < (b) < ©> (@@=

= @< > @>

2.(a)97035; 83401; 12337 (b)18221; 18017; 13411 (€)53353 47
(d) 37923; 36121; 34222 (€)36243; 23601; 16483 (5 211t
(9)36537; 32531; 28540 (h) 98754; 89654; 78543 |

3.(2)31273; 40131 ; 40735
(d) 22342; 6731 9; 97323

(0)28211; 30817; 43181 (08T
(€)36241; 63283; 83624 (f) ZEm4™

- (9)24085; 59312 g0337 (h) 84675; 89546; 89675
Review Exercise
1.(a)ii (b) ii ©iv (i ()i OV

LT 1
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P e .
2 ‘/ five hundred and sixty-seven Answors™
F o h‘DL,g-,aﬂa'n 4, seven hundred and forty-ongq '
.J“.‘ﬁl" thous sixteen
R | ven hundred and forty-three
& 00 1nd. €
Yol mo'ﬁan iX hundred and forty-nine

\!

: lmﬂus.ﬁr:1 1 WO hundred and two

¥ e lh'i’us'?1 geven

"ﬂiﬁand an d, nine hundred and fifty

! a ";’;”58

N -fwo

L‘,.’*ﬁnd arl(;1 t:in e hundred and one

f";mouz:d: tour hundred and twenty-seven

I‘,I‘\.gj.‘lﬂ L60+70+ 2 (b) 70000 + 4000 + 300 + 10 4 1
"1114' 0+ 600 + 00+ 9 (d) 60000 + 5000 + 700 + 40 + 3
;:‘,OJ% 0+900+4o+5 : () 90000+2000+500+00+2
A 0+ 200470%2 (h) B0000 + 9000 + 00 + 70 4 g
IJN*GDDU L, 800+60+9 (i) 30000 + 2000 + 700 + 80 + 6
ot 0+00+2 (1) 60000 + 4000 + 700 + 50 + 3

W
“ (c)15600  (d)21105  (e) 23506
fim[t},osc)%4o?b) ten thousand 20000 (c) thousand 400&{? 96(1(}:;5;&“5(33]75003
';4 mmousand 6000 (g) ten thousand 50000 (h) ten thousand 30000

(b) 80054 (c) 29104 (d) 16785
S b ole> @> (@)= M< (@> (>
21 14601, 12683 - (b) 26133, 16283, 14394 -
3, 20913, 22480 (d) 54790, 54788, 54786
731, 8405, 94041 (b) 12921, 14131, 19375

7i%,42876, 45037 (d) 35242, 36172, 37723

Addition and Subtraction
k)

W 0)39970 () 92507  (d)59880

B9 (c) 187620 (d)120784 - (e)155500 (0153075
B 14508 (1) 122846 3.Rs 72105 4. 104299
B ()89M15b0oks 6. (a) 55388  (b) second month

M

0 Bt} - |
X M12459 (c) 69303- (d) ag228 (e) 18872 (7 7037 (g) 22782 (1) 3439

NCE
)3
g b”‘ (c) 32170 (d) 8588 (e)11420  (f) 5078 5

s YRsasryy 4.21907&____

17_7-: oo NO For Sale - PESRP
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Review Exercise

- -- T T e — S b J .
- -""-\_.

1 ()& (®) &

@) i d) i
2. (a) 122275 (©) 108320 () 91413 ((d]) ‘.\,\ ®) i
3. (2) 57579 ®)ISII () 12074 (d) ;‘;103 l¢) t‘:m
SlISampeonle (1) 111y gy Week § (R Ny
6. 13821 trees 7.Rs 24085 (@) B o, e
St ¢ b
'<‘-!-..:t_".:c;~::.\ — b )
Exercise 1 S ohang Divisign |
1. (a) 2524 (®) 15085 (€) 281454
(9) 1198430 (M) 19242313 (:)255355 A ()
5.Rs 11783829 ®)Rs 8082 0
Exerciss 2 0 ~1~"~2;_>* \
1.() 185 (b) a5y (©) 168 N
DI m21 44y D343 (@) 41g
2.52 blankets 3.41 (M) 612 S (n) 89 ”ﬂ in (9) 23¢
(®) Rs 57400 (©)Rs 78g - 278 iscuity sa AT
Exercise 3 ST835 7. (a) 45 kq (t;)m? Bookg 1
1. (a) 335 . 1?10;.;9 -y
(4) 600550 by ESS?.?CE 50210 by g 3 (©) 364 |
(Q) +80480 by subh'acting 20 () 91 88 SUbtraCﬁng 3 (; :t;y addngs
3 (@) adding 4 (®) addin Ty
Review Exercise 920
12~ @)iv (bYiii ©iv
(a)4 i
: (a; L L TR hgngs O y
S.(a (N 45
(@) 56 km (®) 616 km S. (@) Rs 562845 b 4'2%
8. (a) 27 - ®)Rs 84427, 7. 8887 by
Saddings (1) 5049 Subtracy
() 5140 subtracting 11 T @428 adangs fgexe
Exercise 4 Unit2

Factorg and Multiples
LIE- d f q,

Lj 2\b,c‘e‘f‘
EXEYCiSQ ~ Q. h 3. q, b. e, qQ, h

38‘ 39‘ 40‘ 42! 44|45 46 48 49 zbtd'e'h
I;, 2,3, 5, 7.11,13, 17,19, 23, 29, 31,37, 41, 43,47 o
264321 g 5, 31 (©032,16,8,4,2.1 @10.52! £,

211‘5
022, 11,2 4 (9) 6,3, 2 4 (N)48,7,1 () 40,20,10,8,5.4 L
6. (2)3.6,9,12, 15, 18, 21

ﬂs. b Ui
124,27, 30 (©)5.10. 8.2
(©) 8, 16, 24, 32, 40, 48

56,64, 72, 80 w
178
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T 1 e —
bz e P A e

.21,28.35, 42, 49, 56, 63, 7 (06,12 1 24 20 ae - Answers,
112.16.20, 24, 28, 32, 36, 40 s, 15 o 23038
1 3T ©0217 (4)233 (014

22 (01,3 ()2, (h)7
4 ' ! '2 i
_ “r A3 (i) 1
s ()36 (©) 60 (d)13 ©)16 (f 102 (g)14 (h) 30 |
g Excreise Bt
| (b) i (c) iii (d) i
(e) ii
(b) 2 (c)3 (d)2,5,10
. (€)23510 (n2
10,12,14

1.2,4,8,16 (9)1,2,4 (h)1,

» 47(1)1,2,19,38 ())1,2.4.5.10 20
438810,12 (b 6,12,18,24,30 35 (¢) 5,10,15,20,25 30 (d) 9,18,27,36 45 54
1 B9 @211 )35 (62225 037 (@222 (h) 235 ()41 g 219
-_ (b)2,4 (c) 2,7 (d)17 (e)2,3 (f5

(b)30 (c) 252 (d)30 (e) 60 (f) 60
e 1 Unit 3 Fractions
1 () < (c) < (d) < (e)< ) < (g) > (h) <
T 1 2 | 3 2 2 7 1

s Bg @f @3 @3 @ @F M5 of ol
e d. . 2 1
_ Mixed number 5. (3)1% (b) 2-%- (c)1% @23 ()75
AR 58 19 30

; :'fopEf fractions ¢, (a) 2 of @2 of @ 03

P 3

: '9 1'% ascending order % ‘?f ‘% descending order
4
-..‘: ..§_

: 2 ‘: T 3scending orger % *-2' '?13' descending order
52 3

- 195 3 , 4 2 rder 8.3 9. - kg
.25 3 a%nding Srder % s descending o 2 2
T HR 44 14
¥ 13 (c)-1- (d)1 (e)—g- (N3g 2 il ()2

(b 8 SRR 5 973 15
6 9 6. Omer's share, ET}
4.35=7 S qghous




Exercise 3
45 15
1.(a) %‘3 (b) ] (€)13 (d)lﬁ ()L 06
3 9 45 25 >l Gl
2@y Oz @ @%@ ( 41;1
- f
@t bZE (O '
-@)29 75 5 O @%@
39 3 PN
=k 5. (a) 10 years -~ O
4.(a) 20 g9 (@)10y 6. (a) a packets (b).%. packets
Review Exercise 1 §:i .

1.(a)iii (b)i (e)iii (d)iv(e)iv 2.adf 3(a)>(b)> (c)> (d)> 4 (52
} a)

g O .
5.a,c.d = improper fraction e, b = unit fraction (")1—- (b)7 3 B }EL
B G-
(s
7. @ g )5 (€%
l li ;.6.. 1.5.. = 5 6 4
8(a) 557 ‘g - ascendingorder ..z _1‘)T i
(b) 575 g ‘g - ascendingorder g g .5 = o)
(c) 3.4 7.5 - ascending order S AW 3 r
3 3 13 10 il
9.@5=1 O3 ©E (@ 3 48 .5
63 207 (A} 95 55 1 &5
n@F O ©F @x O©F Oxz O©F 2w

14. 80

Unit 4 Decimals
Exercise 1

1.(@)016 (001 (00324  (d)0.02 (e)0070

2.(8)05 (5)0.08 (c)300 (4)0.09 (€000 (12 (90008 (07
4.(a) ()17 (i) 0.1,0.4,(ii) 0.01,0.05 () (10,20 (16
(©)([)10,80  (i)1,7 (i)0.1,03  (iv)0.01,009 (v) 0,001,002
(d)(i)10,90  (i)1,9 (ii)01,09 () 001,009 (1000100

Exercise 2 J

1. (2)0.24 (5)0.005 (6106 (d)0.024 (e)0.012 (0188 (903 miogté €

13 [ 349 1 17 1_5_(9)7:8.1
2l O % @f e 02 O

Exercise 3 ¢ by
791
1 (@17.14  (0)558  (€)S51 @ss? @

/
romens. ke
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{-‘{i’-{- i Answers
A (€)2.30 (d)1.69 (0)8.71 (071.06
U

48
()4 4 () 3.7kg  (b) 81 .5kg

480 () 300 (d) 82 () 4300
® (c)19.6 (d) 10. 0D
)10.2
Pl ()9.1 () 83.2
(c)1.6 (d)1.4 (€)0.9 '
H13

6. (@) 1.8m (b)3.6m 7.1.7min

1
§ (b) 54?0.5500.5000 (C) 1 210.1 200 1000 (d)
e ' 63406 000

X d I
| (987 (13 (e)9 N7 @76 (hg (i) 88

reprlse -
P (©)i (d) i (e)iv
- o075 (€02 (d)0.19  (e)0.800
o I el 87
%(3145“ (C)1so (d)7100 (9“5‘45‘ 4. (a)11.59 (6)9.52 (c)15.04
4 0198 (1397 6.(a)13 (b)890  (c)as00 (d) 57
, 4
T ()44 ()09 (d)0.5 €08 (017 (€)27.9 (426

453003000 b)1010,1000.1000 (c)7820,7800
: ) ,7800,8000  (d)8420,8400 80
41004000 () 1720,1700,2000 9.(a)4 (b)78 (€)13 (d)1 (e)41'(l)?g

T (b) 4.15m 11. (a)23.8¢ (b)14¢ 12.0.45kg

" Unit 5 Measurements

(b) em
_— (c)m (d) km
) 56930m (c) 8800cm  (d) 6078cm (€)32mm () 552mm

(€)104m (d)82cm 8mm  (8)41m 30cm

(c)37m (d)10cm4mm  (8)1m 2em

() 89000mg  (d)43699mg  (e)1900mg () 800g

T ———
181 IR
5 i ol For Sale - PESRP

Scanned with CamScanner



el ORI
- I “! Y’
o ] ) -“

rMathem = -

o ()31 (©1049  (d)829562mg  (0)g1 iy

2. (@112 (b) 29kg 1550 (c)750g  (d)14g 400mg "’Qﬂq'
75k

3. talamg 5. 114kg 9589, 1149580 6.(a)22kg 646g (b) 22645,

4.99

gxercise 4

1(2)9000m¢ (b)74000m¢  (€) 56506m¢  (d) 90000m¢ (©)67000y,

: (0

2.98000m¢ 3.1700m¢

Exercise

. (@at41ame (107 (c)198m¢ (4)126¢ 200m, (6)gg

: 5

2 (a)12¢391m¢  (b) 23 (c)0.7m¢ (d)1¢ 118me¢ (em!m

' Ly

3. (a)151¢£498m¢ () 17£102m¢ 4. sells less milk op Salurday19300
. | mz

Review Exercise

1. (a) v (b) Iv (c) i A
2. (a)105000m (b) 340cm (¢) 66000g ol
(6) 500mg (f) 76002m¢ (9) 9800me¢ (h;

3. (a)14kg 299g (0)7.3m (c)15%g 8729 (d)304¢700m¢ (o) 484; 51y, )15y

4 @8%kg () 72m3sdem  (©)%g319 (d) 15¢ 591, "

5. (a)237m (b)17km459m 6. (a)255kg  (b) 255000g 7.199456m

Time
Exercise 1
1. (@)6:.00am. (b)7:45a.m. (c)12:30 p.m. (d)4:30 p.m. (e)8:00pm. (H1

2. (a)7:30:15  (b) 5:30:36 (c) 8:59:58
3.(a)5:.00:15 (b)5:00:35  (c) 7:40:00 (d)3:10:00

Exercise 2 S
1. (a) 360min (b) 12060min (c)852min (d) 355min (e) 1048min (01346mﬂf§
(h) 1335min (i) 583min (j) 1086min (k) 1658min (1) 2546min J

2.(a)4620sec (b)2580sec (c)73sec  (d)512sec (e)413sec (035355“[91
(h) 3937sec (i) 12864sec. (j)6011sec (k)10578sec (1) 25923s€c
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gmonths (c) 144 months (g 252mq Onths (4

b) 8) 99,

) ,hgi ! qmonths () 371months (j) 355, nths . Months (e
,Jﬂs( 2500y (c) 35days  (d) 1754 days N ONthg

* (b; onths  ()228d2ys () 813, da

3-_, "’

(k) 12424
ays
:‘ﬂs (1) 163305!5:5

f (b) 26h 55min 485,

I 45560
i (e) 21 years 11 months 4 iy

{7
yo 55580 days (f) 88h
ponths 1692YS - ()59 years O monghg g o,

(b) 24h 11min 15sec

(€) 2 years 2 Months 2 days
s 14 d ays  (h) 20 years 0 mopths 11 days

(if) 6403 min

13mln 17 sec
»
P ses

(0)11h|' Bmln 11se

W

4. (@) 2hr 14min 5766, (b

) 10hr 54
(b) 16hr 33min " Ae80

clse
o (c)i (d)iv

(c) 8:00a.m. (d)12:20p.m.

(b) il
qam. () 7:302.M.

(e)iv
(e) 3:00p.m.

(f) 9:25p,m,

grin  (b)6720min

ngmin  (9) 673min
sisec (b) 1980sec
Msec  (9) 5867sec

Smonths

Bty ()304 days
“hd5nmin S4gac

i Hmin 12sa¢
E5"43min

,"h'““ 3sec

" .
i Months g days

(¢) 913min  (d)435min

(h) 1396min  (i)414min
'(c) 257sec  (d)582sec

(h) 2927sec  (i)26024sec

(€)1719min

(e)173sec

ironths (b)36 months (c) 264 months (d)384 months (€)412 months (f)190 months
(h)239 months

"“tays (b)63 days (c)42 days (d)189 days (e)79days (f)68 days (g)83days

(1)657 months

(c) 9h 38min 49sec
(c) 16h 22min 49sec

(b) 76h 59min 44sec
(b) 12h 13min 21sec

~ (b) 403min

days
11.(a) 9 years 11 months 9 days () 3579 day




Unit 6 Geometry

- ara"Gl = bud'f
Exﬂprgtj'gﬁel =3,c® non-p
1
- . ngle (c) obtuse angle

E"(c:)c;;fl angle  (®) right ang 9e  (d) acyg angle
1. L=
gxercise 3 ) diameter = PQ, racljlus =PR,RQ,RS
2. (a) centre ; L' giameter = JK, radius = LJ,LK

(b) ce::;: _c diameter=AB, radius =CDAC C

(c)cent=— =
Exercise 4 (b) 22cm () 20m 2.(a) 4cm*  (b) 84m? ‘
1. (a)20m (©) gy
Exercise 9 {q]
1.ab

Review Exercise
s @i (b)iv (©)] (d)i (e)i (Niv (@iv 2 a 3'(a)aCUlBang;e( |
b)

(c) right angle 5. (a) diameter (b) circumfercen () canyre (d) radi
|
6. (a) 20m, 24m’ (b) 16cm, 16m’ () 28m, 45m’ ¥

9. (a) cuboid, cube (b) cone -
Unit 7 Data Handling

Exercise 1 4
1. (@oh  (b)infant, 12h  (c)3h (d) 13-18 year chilgren 7

2. (a) punjab, 40 (b)AJ&K, 5 (c) Sindhd) Balochistan and Khyber payh
(e) 130 people ey

Exercise 2
1. (a) Sunday, 1000 (b) more, 100 (c) Tuesday,300 (d) 600

2. (a) Monday (b) Thursday and Friday (c) 30°C, Wednesday (0) 35

Exercise 3

1.(a)5 (b) cholestrol (c)11 (d) 56 (e) Starch

2. (5'1) goats  (b) donkeys (c) 25, more (d) -3%

Review Exercise

1. (@)iii (b)i (c)i (d) ii

2. (a)8kg (b) third and fourth year, 14kg (c) sixth and seventh yez, 5
(d) first and second year, 2kg (e) 22kg

3. (@)10 (b)1 () 8, Spring flower (d)%- (€)3. ons?

4. (a) 8 cupcakes (b) in fourth hour, 14 (c) second and fifth, 6 (dlafd’

5. (@)2 (b)Quifa - (c) mango, chocolate  (d)5 b

\
B ™
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Glossary

n
. The arrangement of numbers from
er-ﬂtest is called ascending order.
The arrangement of number from

ger called descending order.

ord®'- .
smallestls
' per pattern is the sequence of |

. The num
decrease and repeat according

el
can increase,

reater than 1 which have two "

:[050 - ber |
: .The num g
| ers If. Such numbers are called <

|| pime "”1mand the number itse

1
1

The numbers whose factors are

1

| i numtqers:
.called composite numbers. 1k

r completely divide the other i

5| umbe
rs: when @ n
Facto lled factor of that number.

. | qumberthen that number isca
s the product when we multiply one '-'.

1 Multiples: Multiple i
' umberby an other number. 150
prime Factorization: The process of writing a number as a j
‘oduct of its factors is called factorization. The &
ctrization in which all factors are prime is called prime {
factorization. it

Gommon prime factor: When two or more numbers have |

:cToe prime factors then that factors aré called common ‘_.
> |

b |

ol
.‘.l

% :
morrlr:,:n Multiple: A number that is the multiple of two 0f
Mbers s called the common multiple. i

|
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Web Link§

A wwwmamworksheelsttklds.coml(rlangles htm|

‘ | wwwil, com/math/grade-5/types-of-triang|eg

- www.mathsisfun. com/geometry/triangles. -interag _ve.him,
| www.bbc.co. uk/schools/teachers/ks2_ac_vj es/malhs;an Qlog
| www.icteachers.co.uk/children/sats/symmetry ytmpn
| www.mathplayground.com/grade_5_games, hym,
b | www.mathgames.com/grade5 |
| www.math-play.com/5th-grade-math-games. htm| i
hitps://www.chinahighlights.com/greatwall/fact/great-waj. lenglhh,,”l

https:/historypak.com/murree-2/ i

; htlps:/lwww.umversetoday.comM 5055/diameter-of-earth/
https://en.wikipedia.org/wiki/Venus

https://en.wikipedia.org/wiki/Vertebrate
| https://www.caringforkids.cps.ca/handouts/healthy_sleep_for_yor)

- aby_and_child
- https://www.webmd.com/diet/health-benefits-boiled-eggst!

https://en.wikipedia.org/wiki/K2



